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Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

1. This Booklet has a cover | this page ) which should not be opened till the invigilater gives signal Lo
open it at the commencement of the examination. As soon as the signal is received you should tear
the right side of the booklel cover carefully 10 open the booklet. Then proceed to answer the
quesnons.

2, This Question Booklet contains 200 questions.

o

Answer all questions. All questions carry equal marks.

bl

You musl write your Register Number in the space provided on the top right side of this page. Do
not write anvihing else on the Question Booklet.

5. An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You
must write your Name, Register No.. Question Booklet Sl No. and other particulars on side 1 of the
Answer Sheel provided. failing which your Answer Sheet will not be evaluated.

6. You will also encode your Register Number, Subject Code. Question Bookiet Sl No. ete.. with Blue
or Black ink Ball point pen in the space provided on the stde 2 of the Answer Sheet. If you do not
encode properly or fail to encode the above infermation, your Answer Sheet will not be evaluated.

7. Each question comprises four responses (A), (B), (C} and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response
for each question. Your total marks will depend on the number of correct responses marked by you
in the Answer Sheet.

8. In the Answer Sheet there are four brackets j A |1 B |1 C | and | D | against each guestion. To
answer the questions you are toe mark with Ball point pen ONLY ONE bracket of your choice for
each question. Select one response for each guestion in the Question Booklel and mark in the
Answer Sheet. If you mark more than one answer for one question. the answer will be treated as
wrong. e.g. I for any item. (B} is the correct answer, you have 10 mark as lollows :

(Al c10]

9. You should not remove or tear off any sheet from ihis Question Booklel. You arc not allowed to take

this Question Booklet and the Answer Sheet oul of the Examination Hall during the examination.
After the examination is concluded, you must hand over your Answer Sheet to the Invigilaior. You
are allowed to take the Question Bocoklel with you only after the Examination is over.

10.  Fallure to comply with any of the above instructions will render you liable to such action or penalty
as the Commission may decide at their discretion.

11, In all matiers and in cases of doubt, the English Version is final.

12, Do not teck-mark or mark the answer in the Question Booklet.
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3 PGBO

1. dpsaraavamaunele ag dlaaumd aryammsenTed adrGaToFTGL gL
QeruryeLug 2 yosydrlL geaublunsds spuusameal QubBlEsse,
seMsGaibams Gouwsamgu swBur@rrCareaiiun, @pyealdeor eertédl wbHD
Ceuedlnel &1 sugw Qlemed geunyhseT.

Al urdleer B)  ywhoessh
C) Quraiaen D)  ghbCermen@uriibser.
Which one of the following is very close to Anthocerotales by having sunken sex
organs, sporogonium with photosynthetic ability., indeterminate growth and
functional stomata ?
A) ) Algae B} Fungi

“\{2] II"._ Pteridophyte D) Gymnosperm.

2. @pseraiumaseila apamuoiy Calevyelian, GasuGany ugdlesid peeD
Qedvsem QeucGeuny swwhssies wpdlirédHucn dleipes 2
A)  orfeTeteddur B)  Gur@iyéer
C) 2 G élymen D} coluwyGeorhlumr.

Which one of the {ollowing in which cell in different parts of the capsule mature
differently ?
A} Marchantia B]) Porella

’\-.(.?:]ﬂll Anthoceros D}  Funaria.

3. dpssrguumasdle agfa alurGrrlaraflugdle, avCurirsst wl HGW

E\m&FleTment

A) RS B) wafamesdlur

C) oyenGurélymeny D)  Glucoeblwr.

Which one of the following genera has a sporangium bearing only spores ?
“A) | Riccia B)  Marchantia

C) Anthoceros ‘ D) Pellia.

4.  Spssrgd sreanseile, auQurups oes8arCurgBGue wHmd @ &G
§mihs sreurhset ybldles Carein oyrbllsse 2 |
Al ared sLBs CueIBuBaruls B) g Geuredilwest
C)  eorebd sLbhs BCsrGaris D) USCasrGamils.
Which one of the following is the period in which the Lycopodiales and
Equisetales started appearing on the earth ?
A) Late Palaeozoic ~BJ| Devonian
C) Late Pesozoic D) Mesozoic.

| 613 | ‘ [ Turn over
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4

5 ulguwé e ulgue Mo a sflursls Qurepgdlsd dps @ilulic Geren @hlui@sefila

g Uuenl e sfluren elleoLawd Caireay Qews :

a)
b)
c)
d)
GolReer
a
A 3
B) 4
C) 2
D) 1

uligwes I
Gler Griflur goGevedtig e
G Gleeveur GurarGLrangent]

B Cprym aav@aeTm

e GLmestlumr Gpend!Gluflevtr

b c d
2 4 1
3 1 2
1 3 4
4 3 2

uligqwes II
2 OO & & €06V HeDT &el
BTAUBOL S Sl
ey rwib

weublevéd).

Match List I correctly with List IT and select your answer using the codes given

below :
a)
b)
c)
d)
Codes :
a
A) 3
Bl 4
c)y 2
D) 1

List I

Cetraria islandica

Rocella montaignei

Lecanora esculenta

Cladonia rangiferina

2 4 1
3 1 2
1 3 4
4 3 2

613

List I1
Edible lichens

Cattle feed

Litmus dye

Laxative.
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6.  uligue Is ulgue o sfiures QuIpsdle &pds EPulGsrer @OUResear

ey tiues Wi aflure el aws Carey Csls :

b)
c)
d)

s 0

B2
p

U igwés I
2y o T Gmiflwi
Cigy Geurflur
Qo ey Sl
Qe ablwid

iR ser :

3 2 I
4 1 2
3 4 1

uligwen IX
o é flengey
glcwlls lempey
s Llemeed
Grmis uriylliser Glemeved

Malch List I correctly with List II and select your answer using the codes given

below
a)
h)
c)
d)
Codes :
a
A) 1
B) 4
C) 3
D) 2

List I

Allernaria

Beauveria

Metarhizium

Penicillium

b c d
4 3 2
3 2- 1
4 1 2
3 4 1

613

List II

Timber destruction

Textile destruction
Nematicide

Kills pests.
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PGBO 6

7.

Sp&aETaond mbnsamerd seuallshg, sflura alor aws Carpbsds.
L. HCeureiluesr pHD & FELrelldlus srekasea wpeopBu 315 - 255
wHmio 150 - 125 blevediuedt oy austGeemm @b,

0. FlGaurafiuer whpin gryedlds sramse WeapGu 430 - 350 LHmb
63 - 60 leueblusst oy cto1RHeeTTGLD.

. GueliCGurdern whmin <yiGrelldlus srabse waonGu 63 — 60 wHND
430 - 350 Hlevedlwett %Gdcr(@&a'rrr@m.—

IV. GuelGurdes whnibd HGeureaflue sromas wapGu 315 — 255 whHmib
63 — 60 Wlsvabluett oy a1 HaerT@ib.
Glauppyer
A) 1 U oprd IV sfluresteseu whmyn T seunm e g
B) LIl opmb IV geuprenenen wpnd 11 ¢iflwreor g
C) H whne T eflureaiesy wHmd 1 wHrd [V saipreatanead
D) 11 wpmud HI geupresiemes whHmd | whmn 1V eflureneney.
Consider the following statements and select the correct answer :

1. Devonian and Ordovician periods fall from 315 - 255 and 150 - 125

million years, respectively.

I1. Devonian and Jurassic periods fall from 430 - 350 and 63 - 60

million years, respectively.

II. Paleocene and Ordovician periods fall from 63 - 60 and 430 - 350

million years, respectively.

IV. Paleocene and Devonian periods f{all from 315 - 255 and 63 - 60

million years, respectively.

Of these
A) [, Il and IV are correct and 11l is wrong
. KB]..E- [, Il and IV are wrong and III is correct
C) II and III are correcf and I and IV are wrong
D} Il and Il are wrong and I and IV are correct.

| 613 |



7 PGBO
SPHHeTL eunbdluhsenersd sHeue :
gapm (A) - HBard Carlurieng, eureli OeboifGoer eaTuauITd
apet Qo Fluciu L g).
sryeon (R): $Bamd Gerlur@® sbHerasdle aurwd srars Csraipame
wennhaGUTes STeurheel Claran () edlensH@HousT@h.
&8 QarPesil Gerer @DUGser apab sflurer alloLowus CarpOshés :
A)  {(A) whpd (R) Guessn afl, Cuayd (R) aaiug (A) ellhe sflurer alleréaid
B) (A) wdpb (R) Greo@n efl, Gogud (R) ereiug (A) allpe sflurer aflenéswee
¢} (A) sl gueoré (R) seuny
D) (A) seum, oyermen (R) el
Consider the following statements :
Assertion (A) : Telome theory was proposed by Walter Lemmerman.

Reason (R} : Telome theory attempts Lo interpret extant plants in terms of

their origin from extinct precursors.

Now select your answer according to the coding scheme given below :

A) Both (A) and (R} are true and (R) is the correct explanation of (A)

B} Both (A) and (R} are true. but (R} is not the correct explanation of (A)

C)  (A)is true. but (R} is false

xujﬁ"'-__ (A} is false. but (R) is true.

Ep&eeoiL. eurhdluhsamerd sHeuel :

Fahmy (A) : dloveuems wéduggiaid Gonbs sCrmlgeu@ad gefl sipeiaL
Qaaens alayb spefl urgaTIELCY Qanidldrme.

sy (R) @ Semeusst Blaad Qe@sed 67éamaw Ba sdlismenybd LDETHTE
adlraemeryd Apluresd selltsdlarmen .

&G QeTR&HILLRerer @DIIDss web eflurar el mus CathllshHes :

A) | (A) wHobd (R) Gresm@o aifl, Cueayb (R) eresrug (A) allbe sflures aflensaid

B) (A) wpod (R) Gyesor@i afl, Cueyid (R) stesrugs (A) elib@ sflurer aflendandoe

C) (A) &fl, gerre (R) seumy ' |

D) (A) seuml, yeimén (R) &l

613 | Turn over



PGBO 8

Consider the following statements :

Assertion (A} : The role of many of the minor carotencids is photoprotective

rather than light harvesting.
Reason (R) : They effectively screen out harmful blue and near UV radiation.
Now select your answer according to the coding scheme given below :
"‘x.cl']“ Both {(A) and (R) are true and (R} ié the correct explanation of (A)
B) Both (A) and (R} are true, but (R) is not the correct explanation of (A}
C) {A} is true, but (R} are false
D) Both {A) and (R) are false.

10, ulguwé I g uliqué o e eflursd Qurepsdls s GO Fsrer @OllRssflss

g LusoL e eflurer efleoLeowg Coray Qels -

v igwen I : uligwee IT
a)  GuiflenGumiflub 1. CaflGurGall men Qupub 2 mtiyser
bl ghlyemeiev 2. @lumbsadlen |
¢l GanGul GLmGasb 3. Wurellen meoL Qupis 2 mriyss
d} GarQarr@Lramses_eu 4. Ao Geowrt.

C) 4 1 2 3
) 3 2 4 l.

(613 |



11.

12.

13.

9 PGBO

Match List I correctly with List II and select your answer using the codes given

below :
List I List II

a)  Perisporium 1. Organs in which Karyogamy takes place
b) Zeugites 2. Pseudomixis
c)  Somalogamy 3. Organ in which meiosis occurs
d) Gonoloconts 4. Ribbed layer.

Codes :
a b c d

A) 3 4 1 2

B) 4 3 1 2

gl 4 1 2 3
D) 3 2 4 1.

dymenen cuens o eereonolny @dlev sreTILGEDS.

A) C 5 gmeund B) C 4 &Teuyd
C) CAM grmeurd D) C, gmeuryb.
Kranz type of anatomy is found in Fs

A)  C;plants \B) | C,plants

C) CAM plants D) C, plants.
OTU eredrug

A} Qeifley brugy SyeuEssi

B) GWITETULHD UemSHLITL QU B{EVEa6i

C)  dlpey 2 @wIHD HeGseh
D]  amss Quuisd sye@aer.

OTU is A
Al  Optional Transgenic Units \B) | Operational Taxonomic Units
C)  Open Transformic Units D)  Opinion Transition Units.

Qugesflym Slenresomyh ereiip EHredley, ardbgeves Spdleotiiger 2 efencor 2

A) 92,705 fpdenrdugan B) 97,208 fpenmee
C)  97.250 éipflesriua et D) 92,750 Sipdleriss e .
Genera Plantarum includes

A) 92,705 species _} 97,205 species

C) 97.250 species D} 92,750 species.

| 613 | ' _ [ Turn over
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14,

15.

16.

spéaTamuadiles ahs e spdlargdle GSI aremiL@D 7
A) 3-Glgcumel W&HIHHD B) 1-O\a6 warhHen
C) 2-Qadsear LeETHED D) 5-Gldset LEFHHID.
GSI is common in species with
Al 3-celled pollen B) 1-celled pollen
\f."]ﬂ\'[ 2-celled pollen D)  5-celled pollen.
SUGUTSager S-syellds Gamri um el et Qrom fbgeur w2
A) peuradien B)  meul whHnid Cuesreeveu ool
C) GamedTetvy et ‘ D) @LDG&T%G\JG?UL_FFF'!'QOQL'J LOHTID V&0 .
Opposition S-alleles hypothesis was proposed by
A) Na\;faschin \Bj 1 East and Mangelsdorf
C) Hanstein D}  Mangelsdorf and Skoog.
cUEDTUL. S & setoTBRUllg

BEES

H®

A) Galbil GLrQepadldle
B} GCalil GLmdomund aw QummheTan
C)  wBuTCprdhedLig s sw QUM BHSTED
D)  euGurGrrQmefidlen.

1L



11 PGBO

Identify the diagram -

GIeYy

g e

A) Gametogenesis B}  Gametophytic self incompatibility

r 'kl

N _(..":J ! Sporophytic sell incompaltibility D)  Sporogenesis.

17.  dpsaanicupble, sflures Quressiul g eg 7

Al &GHBSUre — gHD OlFdaer T 60 g)

B)  epUlGudiushy — spphsHn Cledsenme o 6g)
C)  peoretigGevdlwen — GneE badvsenTe oy emg

D) GCafBursolevGeadluey  — GleneTuTeT OlFGuaHeTTe) a5 .

Which of the following is correctly matched ?

-

\A) | Cruciferous —— Unequal celled
B) Rubiaceous — Irregular celled 5
C) Ranunculaceous — Cross-celled
D)  Caryophyllaceous — Parallel] celled.

613 : [ Turn over
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18. ulguéd o ulgue e La sflursd Qurgsds Spé @lill.Geier @dlu@eefla

g Uueni e sflwren elloiemwg Caieay Gews :

Ul iqwés I
QeusNCuppULGD FesTenn
SPfseiu’ L GQUTHEED LaTHeDh
fApdlensgsest QUTGbeT @ewrid
whp SADHeTEBeTH GLIBHST Gewrd

a)
b)
c)
d)
GO Beer :
a
A) 5
B 2
g | 3
D) 1

b c d
3 1 2
1 3 5
) 4 1
2 5 4.

uligues II

ydw @en
ghlersivgy
GNHSeT (B
Fl EPELELITEMD

CueTLTT a&IhHED.

Match List I correctly with List IT and select your answer using the codes given

below :
a)

b)

c)

d)
Codes :
a

A) 5
By 2
'\CL 3
D) | 1

List I
Rejection reaction
Killed compatible pollen
Intraspecific incombaﬂbihty

Interspecific incompatibility

b c d
3 1 2
1 3 5
5 4 1
2 5 4.

613
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List II
New races
GSI
Style
Self incompatibility

Mentor pollen.



13 PGBO
19, Spsheail. eurédlukisenend seusil
gabmy (A) : aderdls opflan edrim uredlcoleamé, spw sollenGouranmii® 1@,
sryatd (R) : wreest Gerdu. @ralsdlomed srarddla aramuin whm
soallddlome grensdle G Gomen.
&Gy CerRsslul@sier @dldfeer gpebd sflurar alleLowg CaThoishide :
A) (A} whpd (R) Gress@n af, Goaud (R) ereug (A) albe sfluren aleréswde
B] (A whpib (R @ueso @i afl, Cogud (R) eretugy (A) elhe efluner allerédan
C) (A) seun), @yemmey (R) aif)
D) ([A) whmb (R) @pedorGin  eumy.
Consider the following statements :
Assertion (A} :  Ellagic acid, a polyphenol, is a flavonoid.
Reason (R) : Confined to woody dicots and not found in monocots.
Now select your answer according to the coding scheme given below :
E,-'.ﬂa" Both (A) and (R) ére true, but (R} is not the correct explanation of {A)
B} Both (A} and (R} are true and (R) is the correct explanation of (4)
C) (A) is false, but (R) is true
D) Both (A} and (R) are false,
20. FphsecoiL eumsdlunsenerd seue
sahml (A) : GablLBundeamulpasfle, s seoLeows Srorelllug oy e
Cebl GLrmaoemLI g &t wiy GaThDD @,

aryeoid (R} @ GSI flevL haaflla seLsearme sumbd Satallaneteayser S-yedley LmD,

Geug et e Qaaaalles @ BHE FréHGD Heaw ClamesLg).
& Qeresiul Herer @OURse epaun sflurer alenLeows Carpla@ss :
A)  (A) wHnd (R) @uesorin afl, Goeud (R) eratug (A) elibe sfumer ellensewnde
B}  (A) wbmobd (R) @yedorBin ofl, Cuepin (R) eresrugy (A) el sflures aller&eab
C) (A) ohmd (R) @i geumn).
D)  (A) efl. eimér (R) seumy

[ 613 | 'Turn cver
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21.

22,

14

Consider the following statements :

Assertion (A) :

Reason (R) :

The Gametophytic Self-Incompatibility ( GSI ) is determined by

the genotype of the male gametophyte ( pollen grain ).

In GSI systems, the incompatibilily reactions occur due to the

production of S-allele-specific proteins secreted by stylai cells.

Now select your answer according to the coding scheme given below :

“A)
B)
Q)

D)

gpseeoieupmyen sflural: Qurmbaeus 6 ?

A)
B)
C)

D)

A

",_ Both {A) and {R) are true, but (R} is not the correct explanation of (A}

Both (A) and (R) are true and (R} is the correct explanation of (4)

Both {A) and (R) are false

(A} is true. but (R} is false.

Gu.raflwft Qed &eour
Slemipofl @ fl
Qlgéo seurt

Qe B

NermernGurL. envGl i
Qg st Qlgcuaeur

2 Blyidog!
BlanBlGlenveieyGevreiv.

Which one of the following is correctly matched ?

A) Tertiary cell wall

B) Primary pits
")\ Cell wall

D) Middle lamella

Plasmodesmata
Secondary cell wall
Non-living

Hemicellulose.

Epsacn_aupnist sflursl QurGHEILEHaE G|evemer 7

A)

B)

C

D)

2 Nlyhm Glecuaman
ENEIE

2 T [ Y

Heogiofl Qae aeur

613 |

Q&L WHmD B e
allenuyssatawpwd 2 ndlauyb
Qgd FeumehE CaTHedlamg.
guflest, dly Ll 1gest HRD Cup@sei

Q#caCareny, Glanblole sy Gerev
WHMD eOléestled .



23.

24.

25.

15 PGBO

Which one of the following is not correctly matched ?

" 13) |

N

Non-living cells — Tracheids and fibres

Lignin — Gives rigidity and strength to the cell wall
Lipids — Suberin, culin and waxes

Primary cell wall — Cellulose, hemiceilulose and lignin.

uredliess @ErTCurGarbasfie, Ldoliey Geuben 2 husdl Ceiud G e 2_drerg).

A)
C)

1§ 3y Teredies B) oy oyrerede

&1 gy TeTedie D} erefueTesT g Tereng.

In polytene chromosomes, puffs are the sites of synthesis of

A

-}

{RNA B) rRNA
mRNA D) Sn RNA.

Gladuslemi, @land 2 (HeuT&HGS STDG).

A)
C)

Uemgwfl Qaes seurt B) Qescrfl Qe seur

QL rerdlufl Qady &eur D)  @eutlLientl Qe seur.

Cell plate forms the

)
C)

Primary cell wall B)  Secondary cell wall
Tertiary cell wall D)  Quaternary cell wall.

g@GrmGunl s 2 usyaTIhseT @euhaD 2 aieTL. hdluame.

I Qg et NGwmés
1. gmeu Gleop
. oGyrGurGemnd

V., Ay &elGumeve.

Bleumpmyert

A)  Iwhmbd I efluresenea) gyemen 1 wHmbd IV seupmeaneu
B) Iwboyo 1T sfwurereney Guepid T wbmyd IV sfluresene
C)  1wpno M eflurerensy yeotrev 11 wHmb [V Heunmerenal
D) 1 whod [V efluresrenea @yeme 1 obmob 11 seunmeasrane.

| 613 | [ Turn over
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26.

Achromatic apparatus includes

|8 Centriole

II.  Spindle

[lI. Chromosomes

IV. Nucleolus.
Of these

1\{;} I and II are correct, but Il and IV are wrong

B) [ and II are correct, and 11l and IV are correcl
C) 1 and III are correct, but IT and [V are wrong
D) Il and IV are correct, but [ and I are wrong,.
SpsaaoL HemiGLreafioe @pohast upBlu sabreehe sflubpenes erameu

A)  yrshseTey e Ue 2 Lugdlamend Garamne oewly, aeGarlicd

Blevelles @QrirBurCearimen Glenamums 2jebalsDE 2 sesldng .
B)  wsGamiesr Hlowse Jneg i SdbaalGdlamng

C) 98 o6 ve 2l ugdlsomas Garean 2 meub, Bluredlavedlen yEyrGuen

veudle pes GGrrGorGerhamen Gamg Gerédlamg.
D) @ TolfuTnBesE LLSTDDS.
Which of the following is incorrect for synaptonemal complex ?

A) A proteinaceous complex that apparenily mediales synopsis during

zygolene stage
B}  After zygotene stage, it disintegrates.

C) A complex structure that unites homologous chromosomes during the

prophase of meiosis.

\ D)} Itis not essential for crossing over.

Eé 1?;



27.

28.

17 PGBO
&l 5 Hemedien, slGermibiblesr Db @elouTry EHSGD.
A) n B) 2n
C) 3n D) 4n.
The ploidy of the genome in G , phase is
A) n B) 2n
C)  3n Wil an.
Fpesetor_ eurbHRSHEeTH Heueo :
gnihmy (A) . wheETECarend sreursdlev, N GCrrGurGambaer @hédlatne.

eryeorb  (R) vseréGarerh sreaugsdle U gCrmBuorCerbser o&is
ereuo aotl Gemaillen @BbeTe, et sEanse alflugensl urdléeb.

&G QaTRsaiu_Reren GNUGee wpob eflura e aug CaihblsHéHs
Al {A) wppb (R) QITeETHD &eany

B) (A) efl, eyemmmen (R) geumy

C} (A wHpbd (R) Grem@id efl.

D) (A geum. syeomen (R) el

Consider the following statements :

Assertion (A) : The B-chromosomes are present in maize plant.

Reason (R} : In maize plant. the B-chromosome affects the fertility when

occur in large amount.

Now select your answer according to the coding scheme given below :
A) Both (A) and (R) are false
B)  (A)is true, but (R} is false
“ej | Both (A) and (R} are true
D) (A) is false, but (R) is true.

613 | [ Turn over
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29.

30.

BPHGHEIL cuTHdILkFaeans sHeve : ,
ahn (A 0 QanlyGyreGrrluiger wry Fhure Qeweabrny EHEGD. 28
yfferesrg wHpId Ursd 2 busdlile anfine sgdng.

srgeod (R) © GanlgCrreCrmGn gen 250 A Gempaenme oy eig.

£8y Gar@éslu Heren @BuiReer cpab sflura allo_amwus CorbOedas :

A) (A) wihnd (R) @remod af, Swayn {R) eresiug (Al alihg eflurer alenésb

B) (A) whHoo (R) @reo@o efl, Gosyn (R) eratug (A) ellipe sflurean afleréaweae
C)  (A) &, syemén (R) seumy

D) (A) seumy, gyeormay (R) el

Consider the following statements :

Assertiort (A) :  Heterochromatlin is genetically inert as it does not direct

synthesis ol RNA and protein.
Reason (R} :© Heterochromalin composed of 250 A [ibrils.
Now select your answer according 1o the coding scheme given below :
H.fﬂ. Both (A) and (R} are true and (R} is the correct explanation of (A)
B) Both (A) and (R) are true. but (R} is not the correct explanation of (A}
C) {A) is true, bul (R} is {alse
D) {A) is false, but (R} is true.
RPHBHETIL oUT HEILkSEET & S
gy (A @ @CrrlurGerpseilar @epsasr patCor® san el oyog

aeflglay NNEGCsMHe Wyurve GumbaTd, s Curralibls amef
STl yempUILI.

sryenn (R &CrnlGurGerbastlar @eapeer aafldle sgan smelle @uuhal
Ufisg erRsare. sems NendGLrefiblé sper eredimy SyemipLini.

EGyp Qer@Rssiu Gerer @BlU@ast apeus #flures .aﬂ.\sm_,emmg:, BerhOeHds

A) (A} wbod (R) @yesorGin el

B) (A) &fl, myemér (R) seuny

C) (A) whHid (R) @ipesorBid sHeumy

D) (A ssuny, syeme (R) aifl.
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Consider the following statements :

Assertion (A): When the chromosomal threads remain inter-lwined so
intimately that they cannot be scparated easily are known as

paranemic coils.

Reason (R) :  When the chromonemal fibrils are casily scparable {rom their

coils are known as plectonemic coils.
Now select your answer according to the coding scheme given below :
A) Both (A} and (R} are true B) (A} 1s true, but (R) is false
"xC.]".. Both (A} and (R) are false D) (A]is [alse, but (R} is true.
SpHeeL. euThSHuhisaeTs seue :

g.Dny (A) Qeubems eflovs 2 meursshdlaGurg, s Gargud oglGear
sresrULIED @um @ entér Ui HeUu@Eing.

&T1remid (R) 0 EGla seelbe e varsl vuauRdlng.

Fop Car@éesi Geren @hlRass apod sflurear alaLsws CoihbeRes :
A) (A) seumi. ypeimreu (R) aifl

Bl (A) wphmo (R) Greo o of

C) (A whgd (R) Qlyes@d seumi

D) (A) efl, gyyemmen (R) seuny.

Consider the lollowing statements :

Assertion (A) : Sodium alginale is used for cncapsulation of embryo in the

production of synthetic seed.
Reason (R} : It gives nutrition to the embryo.
Now select your answer according to the coding scheme given below :
A) (A) is false. but (R} is true B) Both (A) and (R) are true
C) Both (A) and (R} are {alse 1) (A} is true, but (R} is [alse.
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32. dpssrauueubnet, eg sflurel QuIGessiul. Qererg 2

A)  eslleyenL Caayeb — 600 el (HHGedTenn

B) @aﬂ&,a’rre\)ggjmﬁn —  eresmGLmeuEiufD

C)  eurrdlmé — CrrUEetein Sireuréed
D) & T euaIdevenio —  Nenmeuwirebl flen,

Which of the following is correctlly matched ?

"‘\Jﬂ Cybridization —  Male sterility
B) Photoperiedism —  Endosperm
C)  Sorbitol | —  Sterilization
D)  Totipotent — Plasmolysis.

33. dpssramuaibnet, arg sflural QuT®HSSILL Hetengy ?

A srelsmooyGennd — &l

B)  arodlun oyegiGean’ —  upliy urdl
C)  sybdler — S eunmgsn
D) gomen Glae —  engeul,

Which of the following is correcily matched ?

A) Calcofluor — Lipid

“B]ﬂl"-.__ Calctum alginate —  Brown algae
C) Auxin —  Osmoticum
D) Companion cell . —  Xylem.

34. dp&aramueubne, erg sflurs’ GuT®SHSLIUL(eieng 2

Al &meseu —  oalbfs s

B)  urelerdledlet gy dmemen(p — Qsupews alog
Cl Gamguwd engmGurrgGenmemiyL —  QLEDTIGEID ‘
D) Quflevwri® — IR euemenwbd

Which of the following is correctly matched ?

A) Callus — Chim(_eric embryo
KE’)\RI Polyethylene oxide —  Synthetic seed

C) Sodium hypochlorite — Osmoticum

D) Meristemoid — Annual ring.

6is]
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35. uwliguwé I e uligue Ie e sflurel QuIGss She Gl Maier @bliGaefler

g Uueedies sflurer afleosows Caieay Oele

uligwes X uliguwen II
a) L@y Gl ddlur 1. eeldflp Qamblemi ub
b)  QurorGlnr 2. aenGLmenGuid Gewheans euer i
¢ eyunden 3. GemlenTiL( ey
d)  yfig 4. Qerwrlgs aan il

Gollpser

A) 4 3 1 2
B) 3 2 1 4
¢ 3 4 2 1
D) 1 2 4 3.

Match List I correctly with List II and select vour answer using the codes given

below :
List I List II
a)  Datura innoxia 1. Cybrid technology
b) Pomato 2. [Endosperm culture
c) Apple 3. Haploid plants
d} Rice 4. Somatic hybrid.
Codes :

A) 4 3 1 2
B) 3 2 1 4
efl 3 4 ) 1
D} 1 9 4 3

LG}:{ | Turn over
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36. uviguwé I nigue M2 e aflural QuIksdls Spés GElL_Geren GBlUHa e

Sgoues e eflurer allesLsows Corey Clews :

ULgwée I
g Adenmi@
SN GaflGum

21,6657 L _(HHF&TemiD

Gamrr G en e sevig Demmi)

a)
b)
c}
d)
Golipser :
a
A) 3
B) 4
c) 2
D) 1

b c d
4 2 l
3 2 1
3 4 i
2 4 3

3.

uligwes II
waEIHHD Clewhens eusnlL
smgliflenL Go awesr
Glemwry s eanilaran. Geaye

eretor GLmevGlTd Qawbhens eueTi.

Match List I correctly with List II and selecl your answer using the codes given

below :
a)

b)

c)

d)
Codes :
a

A) 3
nef | 4
) 2
D) 1

List I
Triploid
Synkaryote
Male sterility

Homozygous diploid

b c d
4 2 1
3 2 1
3 4 1
2 4 3

| 613

List II

Pollen culture
Cybridization
Somatic hybridization

Endosperm culture.
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EpbsoL curdbhluhsameré seuell :

gahm (A) . Qeorlgéd wandorel Gaayd cpald QangrrGaflurysds Blane
QupiuBFIng:.

eryaoin (R): 2le@ QsraiL n yGrriGurllamewpn, 2.Le@m DD GG
UEyriCLmMenmewpd Eevewiausrer Qany CrrCafluryé plamev

2 (HEUT@GD.
&8 Garfasiul @arer @DliGser aped sfturar allo_amws CaipLshss -
A} (A) el syeméy (R) geuny B} (A peumy. syermén (R) afl.
Gl (A) wHrbd (R) @ressBb geuny D) (A) wbnid (R) @rem@o el
Consider the following stalements :

Assertion (A) : Somalic hybridization results in helerokaryotic condition. .

Reason (R) : Heterokaryotic condition is due to the fusion of a nucleated

proloplasm with enucieated protoplasm.
Now select your answer according to the coding scheme given below :
A (A) is true. but (R) is false
B) (4) is false, but (R} is irue
C) Both (A} and (R) are faise
D) Both (A) and (R} are true.
FPEHHEIIL eUTHELEBaeTs seaual) :
gahm) (A) . QanyCrrCafumy s dlae, asdeyen. Gsavea cpead ghLBADG.

sryemd (R): @hbleoanses sryawih, 2 Uean o0 o6 YCrriCurdlermen

2 Ua@m 2eer G GLrlenTegai e @)ameast saur@&h.
S8 Lar@sainl Gerer @Bllaer apevid sflurer alevLwg CarpolsnHés
A)  (A) obob (R) @esstRn gifl B) (A geumy, syenée (R) &

C) (A &fl, gyermé (R) Heumy D) (A whnbd (R) GresiGid Heumy.

Lﬁg [ Turm over
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39.

40.

Consider the following stalements :

Assertion (A} :  Cybridization results in heterokaryolic condition.

Reason (R): This condition is due to fusion ol nucleated protoplasm with

enuclealed protoplasm.
Now selecl your answer according to the coding scheme given below :
A) Both (A) and (R) are (rue
B) {A) is {alse, but (R) is true
C) fA}is true, but (R) is false
\Df | Both (4) and (R) are false.

o 0NgUern bl sreuThsemer 2 HeuTshs 2.goyb Glewbhems 2618 eusnily I LD

GrelleuTr) HOWLILIESDS
A)  allego Gaaye l Bl  Gerorligé evanliesyen Goayet
C)  guengGrrGispatldleny D) Geutr Qawhens 287 & cuemiiy.

Amphidiploids are raised by a culture technique known as

A

||
A) Cybridization “B) | Somatic hybridization
C} Androgenesis D) Root culture.

el Gurletmshd smimhs mgqﬂ QuTmenen e Sreuybdlelmbs LHODTEBIHE LI
2 Hayh QamPleimub ereusurn ebluiuGHng 2

A} Gerorlgd Ganlienyal Goayest B) emelloorenr Ceayes

Cl  syreCeammGlgmedflen D) e CrrGlmendlen.

The technique which helps in transfer of Cyloplasmic genelic information from

one planl to another is known as
A)  Somatic hybridization §)  Cybridization
C}) Organogenesis D) Androgenesis.
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amrig -Qeudlesuirs Qareur geiug, (p+ g)2=?
A p2+q? B) p2+pg+q?
C) p?+2pg+q? D) p2+2pg
According to Hardy-Weinberg law | pl+ g)2="
Al p2+q? Bl p2+pg+q?
\%O")ﬁ"x p2+2pg+ g2 D) p?+2pq
SPHHETL. euTh kS anens SHelel] :

gabhmi (A) ;. gellett QarLi Caraipse eldlssdle ghuBn LT e, oy
Curé@ aTetim SyemPUILIT,

argand (R): we&saGsras Hlusrs Quech aresdle, @D wrHUTEET
sdliturgre denedler Qunesio.

&Gy QarHéasiul Herer GhGser apeud aflurer alloLeus CarholaHies

A)  {A) wppd (R @ress@n sfl, Coeyb (R) eretiugl (A) alihe sflure alleréab

B) (A whpd (R) @reio@o af, Goaud (R) ereitug) (A) allbe sflumesr aflerdsaneie
C) (A) &fl, geme (R} geumy

D) (A seum. yerméy (R) el

Consider the following statements :

Assertion (A) : The fluctuation in gene frequency is called genetic drift.

Reason (R} : During the peoriod of small population size, the gene frequencies

will fluctuate in unpredictable directions.

Now select your answer according to the coding scheme given below :

"/} | Both {A) and (R) are true and (R) is the correct explanation of (A

B3} Both (A) and (R} are true, but (R} is not the correct explanation of (A)
C) (A) is true, but (R} is false

D) (4) is false, but (R} is true.
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43. SPEETIMD SmPOIS@ET SudISHle QETEIH. 6ihs sabhn(seT) 2 dmambLd

aeatuensd Gaiey G

L

11.

I11.

ereurkseiles wrhpseseal Qeudu@ssieusg LaGany STeaThsels 2 sier
ABbdussss uLaTySHman o  srwy amslled Qaradu@
NS ES AL
sragiseiles swula offlugams Qeaelia@arasy wrHnssaall
OlEwaUuRFIDE.

sTeugRsella wrhgsseall GCewudu@sacugs. Cer_ihsgy S
QuBsssge aiflud Gopamsd SEpbu CeTeEN{ abBOIBHHTE Y Eb.

V. ordlusde gearprear Gran® snié Gegsmen salllomn Celams,
LTHNIG SHevall D) Benpéhseuin.
Bleumpyer
A} [l @b seunmss g B) I wl (b Heummestg)
C) IV ol@b seunmen g D) @ oemensab ol

Consider the [ollowing statements :

L.

II.

11

Hybridization in plants has been performed to bring the desired

characters of different plants in one variety.

Hydridization in plants has been performed to bring out hybrid

vigour in individuals.

Hybridization in plants has becn performed to restore vigour lost

during continuous inbreeding of crops.

IV. The crossing of two genetically similar parent plants is called
hybridization.
Of these
A) I aone is incorrect B) IT alone is incorrect
\_Q{ﬂ"._ v alon¢ is incorrect D)  All are correct.
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SphaaL eurhdlubsamens seuel :

sgmhm (A) : ydsea Quflugns @rhard ssdflalard 2 sallyudr gy e
LT &ID&HDe, saleime Qe Lwiufdlarng.

gryemd (R) © yésen dflugres Gumbsre, e urswrboe Gl B agbipenn
peud el Raleing.

SCp GlerGasuu Psrar @RlHaer epeud eflurar el aws CarhbOsHss

A) (A) seumy, syeomen (R) e, Bl (&) wdmd (R) @pesiGo &l

C) (&) nppd (R) @i seumn D) (A) afl, syarmey (R} seumy.

Consider the following stalements :

Assertion (A) . If Nlowers are large enough to do manual emasculation. forceps
or scissors method is adapted for emasculation.

Reason (R} : In plants with very small sized flowers emasculation is done by

using hot water method.
Now select your answer according to the coding scheme given below :
A) ) {A) is false, bul (R) is true
~1j \ Both {A) and (R} are true
C) Both (A) and (R} are falsc
D) {A) is true, but {R) is false.
ultiqwes I lgué Mo e sflurel CQur@gsdls Sps eI Geren GouiRsefler

Spgliuene e sflurer aflo_ows Csieay Caws :

Ul gues I ulgwen IX
a) BTG SebiD 1. esfésogausiails dphie
b)  mréng Swebowin 2. whllgen gevyeub
c)  Sm HETDWD 3. arud
d  &ym e 4. srediiSub adife L.
eoliRser
a b c d
A) 2 3 4 1
B) 3 2 4
C) 3 4 1 2
D) 4 3 1 2.
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Match List I correctly with List II and selecl your answer using the codes given

below :
List I List IT
a) Autotetraploid 1. Sweel potalo
b)  Allotetraploid 2. Triticum aestivum
c) Autlohexaploid 3.  Coffee
d} Allohexaploid 4. (ossypium hirsulum
Codes :
a b c d
A) 2 3 4 1
B) 3 2 4 1
c»,;;")ﬁ"-,‘ 3 4 ] 2
D) 4 3 1 2.

46.  &pserameubne, g sfursan GuTessi Hereng ?

A)  SemanT whnd Hesramn = (penwlicoenT lemeooriiy

Bl  wrisd wpnd Caedes — Eevense whpd eladld Gledheaish
Gomi L@

Cl  Guiened whryb edTesi — ©CrmCurCsmder Sememaen Camum@

D) @l imetr whmyd Curedif — wyyeufl @CyrGurGerd Gamur(.

Which of the {ollowing is correctly matched ?

A} Sinha and Sinha — Incomplete linkage
B) Morgan and Castle — Coupling and Repulsion hypothesis -
C)  Bateson and Punnet — Chromosome theory of linkage

\L}il Sutton-Boveri — Chromosome theory of heredity.
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Epsaraaiuebre. arg) silursl QUTESHIUL Bsiens ?
A) e Cursofeiur A —  dureuall Cpmi
B) afGurdaiellur B —  glflevansen Gpmis
C)  OoseEH QUi LT s — Sy Geusllden Gaflurg
D) doeeed yCrml Gl ren s — de Qeusllden Qeliurg.
Which of the following is correctly matched ?
A) Haemophilia A — Deepavali disease
'\J‘E) IHaemophilia B3 — Christmas disease
C) Colour blindness. deulemn type — Insensitivity to red light
D) Colour blindness. proton type — Insensitivily to blue light
@BrrBurCuimilibe @uvurbu’ L Bean Sdlugire wiry ePlurss 06 61608, Gl W P
QU Benen . @)eusmm empLILIT.
A} smeudll B)  GeusLmr
C) Slernrennnr aest D} sefiob.
The smallest heritable extrachromosornal unit is called as
A) Cosmid B) Vector
) ] Plasmagene D) Plastid.
Bluredley velllaGurws. 68 G&CrrCorlsrbaegsn whpn Gl Lrealldy

LU Burg ¢Gangnsd @GrTGorgl sehb adli gpabdlDe puhsrsn Sifibg

Glevaumenioenil. @leUeUTmn) e p&HE VLD,
Al Oflhg Gsdeyse B UOfihs Gederanno
C)  eyerGueay umeud D) Carameret 2yemGLey.

The failure.of hornologous at meiosis or sister chromatids at mitosis to separate

properly to opposite poles. are known as
A) disjunction ) non-disjunction
C)  anaphasic bridge D)  oblique anaphase.

BSIS J | Turn over



PGBO 30

50.

Sl.

@Gmiee, wydel urgbutlud eydlaors aramiudl. g ashe CerLiyLwg 2

N X-Qeveamihg g B)  Y-Gewauhs sleiaet

C) XY-goaonhg gersel D) XX-@eveihg gieise.

Criss-cross inheritance paltern is more prevalent and is related 1o
Saf X-linked genes B) Y-linked genes

C) | XY-linked genes D) XX-linked genes.

e Ien ulguée Iz e sflural Qurepsdls dps @ilull Gerer GOIUGHaeflar

SigrineL e eflurer el emus Coiey Gaws :

ulques I ugwen IT
al Ay el g 1. 12 qpevdeany Geomygeen e sipeble
b)] B-y ee1 g 2. 9-33 apovéam Geomgsei @ s padley
¢ C-gy et g 3. 11 epeussan Corgset s aipebice
d) Z-g erebr g 4. 10 apevssan Gomesel o &ipelc.
GoWRser
a b c d
A) 3 1 4 2
B) | 2 3 4
C) 3 1 2
D) 3 4 2 1.

Maltch List I correctly with List IT and select your answer using the codes given

below :
List I - List II

a) A-DNA 1. 12 base pairs per turn
b) B-DNA 2. 9-33 base pairs per turn
c) C-DNA 3. 11 base pairs per tum
d) Z-DNA 4. 10 base pairs per tumn.

Codes :
a b c d

A) 3 1 4 2

B) 1 2 3 4

C) 4 3 1 2

B | 3 a4 2 1
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S peamatiLeuDnen eg sllwreal CLThsst_Rererg
Al 8 — O+ G
B BTN Y S — G 1 oF
Q) e — 4o
) YW — g | G.
Which of the lollowing is correclly matched ?
\A) '1‘ A+G — T+C
B) A+T — G+C
C) A+ C — U+G
D) A+ 1) — C+G.
SPHEHTERID daDDieenen Soied] :

ursy Pl aflév, 91.500 sy Cepngser Gass(® @evyp Qaereasi. g arar.eg.allé o efTeng.
L. 6T haemen @It GnsdlaLy cusmenams Bihs 14 66T galley 2 efane.
Il erggemest LTEULTEY HemubhdHel b 14 e gallé 2 atemen 2

.&f(l?cgp Glar@gelnn Herer gollBaer aoeud efluren il owus CarbGlsd -

A) (D) 9.150 wpnisdlepast, (11) 91,500 ursvuren ogp) & e

B) (1) 27.450 wpmisdlenpeer. (I1) 1.83.000 urevuren o4am)ée e

C) (1) 18,300 po&dlapss. (1) 2.66.000 urevLren e &esi

D) (1) 9.150 wnsdlempaat, (1) 1.83.000 urevuyen o|miéhsel.

Consider the {ollowing statements : |

Phage P1 has double stranded DNA with 91.500 bp.
|8 How many double helical turns does this DNA contain ?
II. ~ How many phosphorus atoms does the DNA contain ?

Now select your answer according (o the coding scheme given below :

A) (1) 9.150 helical turns. (II}) 91,500 phosphorus atoms

B} (I) 27,450 helical turns. (I1) 1.83.000 phosphorus atoms

C) (I) 18,300 helical turns. (II) 2.66.000 phosphorus atoms

3) (I} 9.150 helical turns, (II) 1,83,000 phosphorus atoms.
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54,

55.

Fpbhoail eurbdlubisensts sHealel ;

sahmy (A) c yCrn CaMBuirl Lmallés o eften gy ieragdhamer, unedldieul mreafls
25 BHSHESHD.

sihemh (R) 0 wyGeMGuit L irellé o_siien amey oyiadnegsner, CuorGearm el greailé
26 GBS0,

&Cp Qempesiu Gerer GhdRsar gped sflurear ailen_ws CsinblsHés

A)  (A) geun. syeomey (R) el B) (A} whgid (R) @esar@on el

C) (A whod (R) @esorHid ssumy D) (A) 8fl, gyemen (R) seumy.

Consider the following statements :

Assertion (A) . The Prokaryolic mRNAs are polycisironic.

Reason (R} : The Eukaryotic mRNAs are monocistronic.

Now select your answer according to the coding scheme given below :

A) {A) is false. bul (R} is true

‘\Lﬂ, Both (A) and (R) are true

C) Both (A} and (R} are false

D) (A} is true. but (R) is (alsc.

A& GETI LT HHILkLGEETE Geue :

o (A  gesg-alld Gran® Geysella, getleo wlEb LGOUHSS6
meoL_QuUNdpg. SiHs Gempaws Qaesen @emp e &In HepsHaHeurs.

snyeord (R @ ugGuwhssen e Guntg LHGDTH Gopew, adli g Geap

TN D LDEHETLD.
FCyp Qarfesiufeier @hilGsen apen sfluran alloLowud CarpGishHes
Al (A) vhnd (R) @reo@n &fl, Gueyd (R) eretug (A) elihg sfluren alletéaib
B) (A wHpbd (R) @yessr®id efl, Gneud (R) erettugy (A) alihe sfluren allendaneie
C)  (A) sfl. gyyearmé (R) meuny
D) (A) ssum. gyeame (R) aifl.
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Consider the following statemnents :

Assertion {A): Only one ol the two strands of a DNA duplex is transcribed. this
strand is called the sense strand.

Reason (R} : The other strand of DNA which is nol transcribed at the moment

is called antisense strand.

Now select your answer according to the coding scheme given below :

A) Both (A) and (R) are true and (R) is the correct explanation of (A)

By I-i).. Both (A) and (R} are true, but (R} is notl the correct explanation of (A)

C) (A} is true. but (R) is false

D)  (A)is false, but (R) is true.

SPEHSHTOTL. euTGElunsaen s Geuadl

samy (A) @& Waab Hdlu oere weaag SGbh. aHli LTHS®R HLEGD
Qurps @emes UNNhe wnugyd G dldper. @gamen Taram
STEBTMY {Em PLILIIT

sryewid (R): dled brnsabe o ul by gaadg Blad Hiflu ereur@ib.
@\@ement Fleiut Tedr eI e pUILif.

&8 GarHssiul Rerer gOiGss apabd sflure oo owd CorbbsHeas :

A (A) wmd (R Gre@n seupy B) (A #fl, syermen (R) seumy

C}) (A) wppid (R) @yeorw sl D) (A) seuny, syeomen (R) el

Consider the following statements :

Assertion (A) : The smallest unit of DNA capable of undergoing recombination

during crossing over is called as recon.

Reasont (R} : The smallest length of DNA which could undergo mutation is

called as cistiron.
Now select your answer according Lo the coding scheme given below :
A) Both (A} and (R} are [alse
‘-ﬁ)f | (A) is true, but (R) is false
C) Both A} and.(R) are true

D) {A] is false, but (R) is true.
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57.

58.

59.

56 g 50 HGar gflebsmed Qerdm. uredl@uimLaL o BauTsbgb

Qurpal. 25 cug CarLmer wyow Ser DIDDEBTL 1SS -auTs LTHEITE o6 e

BL_&h@&GHD ?

A) 24 ohiGaim gflekisanend Glareo Urel@uieL () 2 meum@h

B) 24 vhmd 25 blGam  gflekisamens Qareu. @pes( urelulimL. Haei
2 (HeUTEHD. ‘

C) 49 obCarm guflauksenend Qameto UTEIGILL_{ 2. (HeuTEDb.

D] 25 oG sblaksmend QareoL LTNGLLIMLE 2 ®meuTEib.

What would happen if in a gene encoding a polypeptide of 50 amino acids,
25th codon { UAU ) is mulated to UAA ?

\A‘). I:' A polypeptide of 24 amino acids will be formed
B) Two polypeptide of 24 and 25 amino acids will be formed
C) A polypeptide of 49 amino aéids will be formed
D) A polypeptide of 25 amino acids will be formed.
(P 5G oalsbGD CHTLTEHE Geneaushsrm@h.
Al ySsEmE, SIS . WS© B)  yeis, yo®. Yo

O e usEG. Yo Dl o DG, BHG.

The terminatlor codons arc

Al UAC. AUG. UAG \f | UAA. UAG. UGA

C}  AUG. UAG. UGA D)  AUG. ACG. GAG.
wefly Gepdler, ursgdlais aryaact Glaed apebd GeuefliuGn.
A)  Gaegdle Himid B) Gameller Himib

Cl =Ll semey D) ysdlenelgmenid.

In human beings. polygenic inheritance is exhibited by his

A) hair colour \L’J \ skin colour
C) size of the body D) intelligence.
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Epsaramusunner, sg sfwred Qurkpssiul(Hererg

A)  gererrg urelnGren — Qe CurGusiit &G 19
B} yeraig urallnGreu 11 —  owCrlsamréev yfiGumeavey

C) weeg uredlw@yeu I — Qe GurGmam wrifl_wr

D) G g ereg UmedlwGren —  Olaiwev HE@amgdsav.

Which of the following is correctly matched ?

A) DNA polymerase | — Thermobacter aquaticus
B) DNA Polymerase II —_ Pyrococcuts _furlosus

C) DNA Polymerase Il —  Thermotoga maritama
.y Tag DNA Polymerase —  Thermus aquaticus.

ueallglorar senyOumBL s61 Gecede amredle semraugTaR 2 ILIEGh B &ne,
ETEUEUTN HeMPHSULIID 7

Al oyevCuomreurediy B syevGuoreriflg

C) &l Birdimet D) % dlpar.

Total sum of all osmotic potentials caused by different solutes dissolved in cell

sap is called as
1\

\A) '- Osmolality B) Osmolarity

C} Combined osmotic potential D) Osmotic potential.
FHDHHTIL euDD6T, ThE eweiuT® Brsdnens sflurs alleragh 7

AW, T gy, Bl v, =y sty

Cl vy, =ve-v, D) vy, sVt
Which one of the following is the most correct equation for water potential ?
Al W, T Y, Bl W, T VY

C) Ww:ws_wp D] Ww:‘lfs_wp*wg-
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63. GQariiy wrpod Geriurigeiug, Geufler GuhugliSleyeren Syueise ereuourm)

W HHlLEDIYD ?

A)  seflnedoanticn spiqusiien Gpifoenn Spwellser
B)  seflnemenie spliqueien erdlinenn syueeei
C)  inevw seonsedids 2_aen ardliwenm g_.qmsoﬂeaefr
D)  wett sengaeiies 2 eien Ghifnenn yeTsern.

According to contact exchange theory, the ions absorbed on root surface can be

exchanged with

) similarly charged ions adsorbed on clay micelles
B) oppositely charged lons adsorbed on clay micelles
C} oppositely charged ions present in soil solution
D) similarly charged ions present in soil solution.

64. Feooura it darauellfloas Qardrr oo Csadlomar  Cpi
(Bietr eonwenfluemesiayd whmid erdlT WBlemesnuailleneayb e 2 Uy Henadies maudsTe,

Jng Gurare swhlemer 2 (meureug sl ?

A) agli bleireredaset Gladvelesr 2 er@en Cafsugmey |

B)  Gpi Blararwailasr Qacelled 2 aiGen Gareugmen

C) G Bleeswellaem wpmid erdli Bleéterwafiast Fwinrs o arergme
D) Gri daaruaiser Gadveitss Glauell@u Qarfeugmé.

If a cell contins certain fixed cations in it and is placed in a salt solution

containing cations and anions, then Donnan's equilibrium will rsult in

&
\ﬂﬂl accumulation of anions inside the cell

B) accumulation of cations inside the cell
C) equal number of anions and. cations inside the cell
D) accumulation of cations outside the cell.
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Flpdamein. gmhpeeticn, seflo o lysel aevab aped gneug LOBL THE sabp)
FeUmirenTa ?
Al 2UGuITilenneug & UTens B} Fodlermeug & Lrems
C) wyrenen@Qubflues Ureng D) ediey® uraysme.
Which of the following is incorrect with reference to transport of mineral salts
through xylem ?
Al By apoplastic pathway B)  Symplastic pathway
C) Transmembrane pathwa.y \D):‘]. Osmosis.
afgaéx'- cmiLeunmyel . e1g) fiwrel QuTGHSUILIL (HefeTgy
A)  @sGLrgGrrd uby Gariur( — GRS
Bl e £dle Garlun( —  Qluesterl -dlenmira
CJ Loihlemend Gl um —  SOemréioean
D) LG e &Sldldlen Carl ur® — Qe
Which one of the following is correctly matched ?
\;l.fljx-.l_ Cylochrome pump theory —  Lundegardh
B)  Carrier concept —  Bennet-Clark
C) Equilibrium theory — Blackmann
2} Prolein Lecithin theory — Donnan.
gipdaenieuhmen o8 sfiurer ellenban 2

A Ca?”* uresse 2 aCrraEn, oeme aflfbleraruad uras Qeushl CrpreEDn
B)  Ca?" whpb adi Bletmuet uramgser GleusflGrméeh
C)  Ca?* urengsst CeusllGrrogh, gamre adli Beramual LTams 2 6 GHTéeD
D] Ca?*opmid edli Benetuedl uTengaen o erGrmHEin.
Which one of the [ollowing statements is correct ?
\Aj ﬁ" Ca 2 * channels are inward while anion channels are outward
B)  Ca?*and anions channels are outward
C) Ca 2 * channels are outward while anions channels are inward

D) Ca 2 * and anion channels are inward.
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68. dpaeoeubnet ga Cnmg Llereiliud uTeng SL@h 2

A)  H* gugliCuev B} H*UdGuey
C) H*/K*guiGuey D) Ca*gqiGuen.
Which one of the {ollowing is an example of electroneutral pump ?
A)  H™ ATPase B) H*PPase
. H*/K*'ATPase D) Ca * ATPase.
69. &pémaor_supryet, ergr GLrGemrlenmevligeeien sTadlub LTGHmE HDés
2_gayh ?
A) e, B gud
C) gl D) el
W1 ich of the following can trigger opening of calcium channels in tonoplast ?
J 1P, B) ATP
C) GTP D)  ADP.
70. spefl Blpdl gyeowiiy 1 - e Eifleow meor Cunid pEUUEGE)
A) P-680 B) P-690
C) P-700 ' D) P-658.
Reaction centre of pigment system I is
A) P-680 B)  P-690
) P-700 D) P-658.

71. SpsadoL eurbflunsaerd seuell
ambm (A QuesGLrev urev@ul spndl aatug, o Grfleowrar
Sy &edlarent &phs.
eryeond (R) @ =g GansGevren wrGerr ursvGul &pbHdl aaTnn P&t
uRdlng.
E8Yp Qar@ésiul Reren @olRse aped eflurear el ous Cathbolsdde :
A) (A) whHpid (R) @)yecor(hid s B) (A) seumy, gy eoiréy (R) il
C) (A) whod (R) @yesor(hid seum) D) (A) &, g erre (R) seum.
Consider the following statements :
Assertion (A) : Pentose phosphate pathway is a direct oxidation pathway.
Reason (R} : It is also called Hexose monophosphate shunt.
No_yv select your answer according to the coding scheme given below :
\A) | (A)and (R) are true
B) {A} is false, but (R) is true
C) Both (A) and (R} are false
D) fA}is true, but (R} is false.



39 PGBO
72. ulguwéd e ulgud Mo a sflursl QuIEsSs £ps @il Qerer @BliGssfler
2 iuenL ey eflwurer el anwg Caiey Qens
U g wes I Ul g we IX
a)  dlealiy @eonse 1. 8y Gamey
bl slAULRSHD obshset Cariun® 2. amml §-Sleurs
c)  spefl Geaundlssd 3. LenméGlned

GILDIT 8 6T,

-

d  eLsriuradels oubfle & phél

@oli@ser
a b ¢ d

b

A) 1 3 4

3) 2 4 1 3

C) 3 1 4 2

-~
\

A\ 4 3 1 2.

Matlch List I correctly with List IT and select your answer using the codes given

below :
List I List II
a) Reddrop 1. Krotkov
b) Law of limiting factor 2, Hatch-Slack
¢} Pholorespiration 3. Blackmen
d) Dicarboxylic acid pathway 4, Emerson.
Codes :
a b c d
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73.

74,

Spémessi eumddlukipanend seueh

gl (A) 1 BesLsdlast, Saupdlar  eubellsyan Gopdee  ne
S sl ReEHILL (Hefieme .

grgan (R): oe&lJrataer, GDera I sallareas @Gongsd sSpae . w
Wenai_pHaalelmha dle genallanea 9 ae0aTas GansHsHe
Hnest BiesiaL bde@nigs OFdaydlaine.

FBy QerHssi Harer @PGser apeud sfluren aileL emwg Corplsdss :

A)  (A) wHnd (R) @resin o) B) (A sfl. gyemed (R) seumy

C) (Al whmb (R) @yeorBid seuny D) (A seun. syire (R) el

Consider the following statements :

Assertion (A) :  Electron carriers are arranged according Lo their redox potential.

Reason (R} : Flow of elecirons occur [rom lower to higher radox potential

value.
‘Now selecl your answer according to the coding scheme given below :
f\.-il.-fﬂl‘ Both (A) and (R) are true B)  (A)is true, but (R} is false
C) Both (A) and (R) are false D) (A) is false. but (R) is true.
Beutliyehemsemwtl DD ahs saOD) peupregl 2
A)  gissreaghsella Cafliygyme sraoiupedldoma
B)  weimeoolldeumoe Bild suenpd sreurhsaran Gaurlyghems srasiliu@Gaidldoane.
C)  ugrdiGeel wHod SGaTGuryGued GRrus graghsala Geaufl yehae

&iTesorILeuglévenen
D} HiGesmenbluin graurhselien Gourliyersme araoiufeudlesmen,
Which of the following statemenls concerning mycorrhizae is false ?
A) Mycorrhizae are seldom present in aquatic plants
B) Mycorrhizae are seldom present in hydroponicaily grown plants

C)  Mycorrhizae are seldom present in the families of Brassicaceae and

Chenopodiaceae

»_ D)  Mycorrhizae are seldom present in Gymnosperms.
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75, ulgué I ulgue Me o sflurel QurEssls dps GO Geten GHWHe efebr

splue e sfurer el evwug Caitey Glaws :

g ué 1
Y, VG eu IR
Liretr
HenenCamenen(
Uleotiredl e

b c d
3 2 1
2 1 4
1 2 4
1 3 2.

a)
b}
c]
d)
eGP :
a
A) 4
B) 3
¢ 3
D) 4

ulaguée II
1. &fl&ehen
2. sbleromfles
3. Qupsre
4. o Cumlles.

Match List I correctly with List II and select your answer using the codes given

below :
a)
b)
c)
d)
Codes :
a
A | 4
B 3
C) 3
D) 4

Alkaloid

Terpene

List I

Glycoside

Phenolics

List II
1. Lignin
2. Linamarin
3. Menthol

4. Atropine.
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76.

77.

FP&ETIIL. T hElLkGmaTs Heed :

sohmy (A) . Qerdlsen aeiiusme, safliul L LHOID el LT CTEHLeeT. Sjene
el Siflur smsdse o@D,

sryewd (R) © Qprdesn, o Jiflu Sflur saédleen gy @b,

£Cip @M Garen @O g sfurer aflen_sows Cafbe®

Al (A) wonbd (R) Qe afl, Cueub (R) erasrug (A} ol eflures allenéed

B)  (A) wbmd (R) @pesm®ind afl, Cueyd (R} erestug (A) alihe eflurer aflendaincue

C) (A afl, yyeomés (R) peumy

D) (A) ey, yeomén (R) el

Consider the following statements :

Assertion (A) : Enzymes are simple or combined proteins acting as specific

catalysts.
Reuson (R} - Enzyrmes are biological catalysts.

Now select your answer according to the coding scheme given below :

\
I3

"A) | Both (A) and {R) are true and (R} is the correct explanation of (A)
B) Beth {(A) and (R} are true, but (R) is nol the correct explanation of (A)
C}) {A] is true. bul (R} is false

D) (A} is false, but (R) is true.

Sipsaeton_supne, Glamesiml emwdledlen Guoebi et soa&TLITE aeLg erg) 7
1% (S) K +(S)
A Vo= T Bl V=o' —as
m+ (S) Voax (S)
A4 +(S) K
C) V= T D Vo= o
K (S) ! V o
Which of the foliowing is correct Henri Michaelis Menten equation ?
il
| 1% (S) K_+(85)
{ - _max — - - _m_ 7
ALV = ST Bl V=v (%)
1% +(S) K
C vV = e = — M
) K m (S) o v Vmax .
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el L. Qrrdile snGes e(psa ahHeme ?
A} f awhsl B) @Quen(® ewsa
C) e apsel D} preng awsal.
The specific enzyme code number ( E.C. number ) consists of
A) one digit B) _ two digits
C)  three digits D four digits.
ey Guirema Bledr geruGlummel ergy) 7
A) G ieTeIg Apaus&an) B) geene gpevdanm
Cl urs cpovdaamy D) I apessamy.
The substrate [or ribozyme is

RNA moiecule B) DNA molecule
C) Protein molecule D)  Lipid molecule.
s Qprdldla yre ugd), Teiaurn e PssluGEng ?
A)  oCeomereTenenid B]  yys ugdl
C)  Guressianend D) @ees Qprgl.
Protein part of the enzyme is called as
A) Holoenzyme B)  Prosthetic group
"1 Apoenzyme D)  Coenzyme.
Epsbenemb smbpsamer saasdle Garan®, seuprar sapmieem) o @olHes
epeeld Gaiey Qe :

. Gudle usdlar, dflauid euwel, erigeilar Curesin &rhsHssoaID

Qareo,  plpdlser, urseflurTédsaer BlDUURSS LwETLRSSU

LupdleTmet.
I seauser Cripamenll L@Hamens Qe ({erenes.

M. eemeuaet Cuipenat QarasiL. giaeiaaen HIDULEGSgIdlame.

@eunmyer :
A} I wHmyo 111 B) II whHryod 11
C) II i (Bib ‘ D) Il wl@b.
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Consider the following statements :
‘ L. Basic dyes such as basic fuscion crystal violet, safranin etc. are used
in staining of bacteria.
II.  They have posilively charged groups in them.
[II. Basic dyes stain positively charged particles like nucleic acids.
Which among the above statements is / are not true ?
A)  landll B) Iland Ui
C) I only .l only.
82, &pseraud smppeemen sauciddle Gerwu®, ahps mDDI(H6T) 2 Tmarowe
areiueng s Gaitay ClEw :
L. Qeaellar meoewilu uTakemeny uTHBTHS, Geadls Gum@meh
Hlevatupsa LusTURSsILHEDE!.
. Quflu wpmid eefldlée wsrasamyw o Rarmaser, Coaudly Qurmen
BleraiuBdse epeobd LT gIHTHeILIG T mes .
. Gaudl floeuu@sdles Qeadagist yeba Gearn. Cedellar mem
QurpleeLd dflou Qoug oubon &G-S GHESHE

Qe Ldlng.
@levmmyeri:
A 1obod I ol @i B) 1 wpmid [ ol Gib
C)  Hol@od | D) Il @i,

Consider the following statements :

1. Chemical fixation is used to protect the fine cellular substructures.

It.  The morphology of larger and more delicate organisms are protected
by chemical fixation.

HI.  Chemical fixatives penetrate the cells and react with components and
render them active.

Which among the above statements is / are not true ?
A) [ and Il B) IT and 111

C) 1l only > I only.
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erederenateney 1-25 Gameior. QuUTGenrE o mUOUBSEd QareaoL mienGeastmaalulc,
gpefl 530 nm Berd Glereim s LWETUHSSDTTE SBET LG D6 66T RITE
@ymEED 7
A) 265 nm B) 424 nm
C) 212 nm D) 04 nm.
Calculate the theoretical resolving power of the Microscope which has an oil
immersion objective with a NA of 1.25 aided with an illumination of 530 nm.
A} 265 nm B} 424 nm

“of | 212 nm D) 04 nm.

84. ulgué I g ulgue Ha e sflursl GQurmsdls Sps @il Gerer @ildfase

S tiueot e gfiuren aflesows Cara CQews :

uigwe I Ul igwée II
al 2 @CnrGurarbaeh 1. ©ed whnb o6 Goer
b)  Wedufu ursedus 2. alluflGur Cerely
¢l HIV 3. sCumomtadllm pui e Hen
d)  Aflur eeédl oy ieratig 4. GsBeur whmyb wrest@GL et

@ﬁ?ﬂ@&;e‘ﬁ :

A} 1 2 3 4
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Match List I correctly with List II and select your answer using the codes given

below :
List I List II
a) 2 Chromosomes 1. Cech and Altman
b) The largest known bacterium 2. Vibrio cholerae

¢) Human Immuno deficiency virus 3.  Thiomargarita namibiensis

d) Catalytic RNA 4. Gallo and Montagnier
Codes :
a b c d
A) 1 2 3 4
B} 4 3 2 1
C) 2 3 1 4
A 2 3 a4 1

85. &GurelgGari Cyrieu cusme urr&mrﬂu.urré.&sfr, @l st LweTLRIS G1dlesTmen .
A)  saflol QuTrEL st s&dlésrs LuaTLRHGEILLOS ST
B) geflewu sbdlésns Luamu@ssdldpa
Cl &Ml Gur L ssmen TEU&LITIT T SHEHSHSHTEH LIWETURNS &idhet1m et
D)  eaamGasenw eflol Qurmpenral) LweaTu@ sadlamet .
Chemolithotrophs are those bactleria which can utilize ?

~A) | Inorganic materials as encrgy source

B) Light as energy source
C) Organic compounds as electron source
D) (Oil as carbon source.
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wHp uBrrlsflurl ReeflL BlEhe, o@walasTUlermeauorsser Gamnul HeTensb@s
&ITIEO1LD
Al Qad seufldy soa e o_efeng B)  Qed seufle Blyfes o siieng
C) Qe seuflée ursh 2 eieng D) Qg6 seuly @eveve.
MypoplaSmas are diflerent from other prokaryotes by
A the presence of chitin in cell walls
Bj the presence of nurein in cell walls
C) The presence of prolein in cell walls
) the absence of cell wall.
LriGeum  epeureusEnld ¢ X 174 @ealgad DNA Qereai.  eeujevsEhs
TRHHGFET Qo 9 @h. aallayd utiBer meugavadt ¢ x 174 emeuydlelpha
DrHLLI GHUUE Glensl Uil EInsT e
A &8 eugeu #flemp DNA B) @44 cugeu gpflenyp DNA
Q) el L aungeu gpflemyp DNA D)  ewlL eugeu miflemyp DNA
Parvoviruses and ¢ x 174 are examples for DNA viruses. Parvoviruses differ from
¢ x 174 by having
Al linear ds DNA U] \'* linear ss DNA
C) circular ss DNA D) circular ds DNA.
2 Wflerhimemer, 2 erbuwd, 8 i bserral Siflgead wer 7
A) HITTE Gy 610 Bl QI Gem
C) & 6Ol -aruibl g, D) Gondler.
Who proposed the 2 empire, 8 kingdoms classification of living organisms ?
A} Carl Woese Bj) Whittaker
)| cavalier-Smith D)  Sogin.
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.

89. Guiglev Cuaaus el SlevCugé umdwfluremar e i
ullieualle bry el auflemelu@bpamend e amBereng LA ®HE &b AT

Ulestunidlysien @ibs elleurhisst 2i@ib.
A)  rRNA wyugn euflenain@gge B)  DNAwrua euflases s Rese
C) ypsb wyugy euflame LB sen D) @mm DIEETT BN .

The second edition of Bergey's Manual of Systematic Bacleriology is more

phylogenetic than the first edition because il depends on informations on
A) rRNA sequences | B) DNA sequences
A
C)  Protein sequences S0 | All of these.
90. &pserambd shpsamen seuabdle bleneis
I g&ar Grrm aperny Yehemsasante Carpreléaliuféins.

I s@bdle sa@lu ugdila Corarmbp dleuliy Supss Grpri (pseile gf
BT & duliesr Qlawenepd Seoss OGN e 0 wighemewlanmapnh 2y,

Cuoh&eusre eLmyen 678/ / 6Tanéy 2_eUm IDIITE0T G ?
Al Lobpw 11 B lw @0
C) Hwl G : D) Iohon H 2_emennises.
Consider the following stlatements :
1 The likka disease is caused by 3 different fungi.

1. Stem infection during red rot of sugarcanc occurs due to the action

of nematode {ollowed by the fungus.
Which among the above statements is / are true ?
A) I and 11 B] I only

L,E)gﬁ I only D) tand 11 are not true.
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BrrusFlmblaet shser allmphbCGarbllagst meopu Uan Gubamsd giemersamemyb

HTUGH@SLD LusTURSGElesTne. fov 2 srramhcen HGp 2 siemer.

I ugdetlur dlymblefle
I1. GluefidleShun eréavCuesran

L. erelleflur yemiwGeurGeurgr

V. GeiCarGomrerev Gabuen o

@eubmiet sremen sflures Glenas Gdene 2

A)

C)

[ whmod 11

[ wbmub HI

B)

D)

—  @ees glemen
—  oanL-Csmev
— QpsLIGmmsn

—  QaeryGlgeven.

Ml wbHpyod IV

I imin IV.

Pathogens enter the hosts by penetrating through various natural openings and

wounds. Here are some examples.

L Puccinia graminis
I1. Penicillium expansum

I1I. Ervinia amylovora

Iv. Xanthomonas compestiris

Identify the wrong matches :

A

C)

I and II

I and I

B)

Stomata
Hydathodes

Nectarthodes

Lenticells

Il and 1V

Il and IV.

afgpcu@tb Rleemraamand Heumigdla Qarasi() 2.cmamn JaaTs (o6 eoo1 (FHemen )&

@BliGse wab Garey Cals.

L s(HOUI& ememL sulol
iI. 2 heverdlés el LiemerL

. g eesald Quer.difldigy

@eubmyeir -
A)  fodpb I
C)  NMwl @b

[613]

ey Gev@am emai_Lmible]

o Got_it Gerrflwi @50‘@6@@1

hS

arflemeGu §éaCym Awrsd

I whpo 1
T o Ho.
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Consider the following pairs :

I Whip smut of sugarcanc — Ustinlago Beitaminea
1. Late blight of potato — Alternaria solani
1. Powdery mildew of cucurbits —  Erisiphae cichovaceacum

Find the pair(s) which is / are not matching :
A) [and Il B) HandIll

ng) | 1 only D) il only.

93. ulgwé Ispulnue e Ler eflursl Quresdls dps @OILS Gerer @hlu@seflar

2 uuenL ey sflures efteoL ews Carey Gaws :
uligues I ulgwe II
(Bpris &l@mdleer) (N Casrbiis@et Qadab euifl)

a)  SlermevGomg CurGun Sgm SlyrdlGe 1. sruhselies epeold

b)  Lrlesgenrm guriweTey 2. Geaurggralser eped
¢ usdeflur dlgrdbletlay 3. Qi @ser epeid
N d)  ogerflud Qereenar - 4. aUOLTné Qedssi ppelb.
@ﬁuf@éa’r :

) 2 3 4 1

D) 1 3 4 2.
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Match List I cofrcct]y with List Il and select your answer using the codes given

below :
List I List I1
( Pathogens ) { Place of penetration into host )
a) Plasmodiophora brassicae 1. Through wounds
b) Taphrina deformans 2. root hairs
¢)  Puccinia graminis 3. through buds
d)  Fusarium solani 4. through epidermal cells.
Codes :

A) 1 2 3 4
B) 2 3 1 4
W) 2 3 a4 1
D) I' 3 4 2.
94.  dpseie eurbdluksaeand o :

gabmy (A)  agbléamedles eumn Cadat Crmu CarpCarCureardy #h ey ey

ur deiflureures 2 edorL mélmgy.

eryewid (R) @ e @ememlley qu@md U@UY SHWHe 6@ uTsefluTomrd 2 L m@b

Grpmur@ib.
FBY Qarhsasiu Herer @D wpeun eflure alleows CarholsdHés
A)  (A) wpod (R Grasi@n &ifl, Coeyib (R) ererug (A) elbe sfura aSleréaib
B (A) #fl, eyemes (R) seum)

C) (A) bbmd (R) @resor@hn &fl, Guepid (R} erasiugy (A) efibe eflursn aflersswdoen
D} (A seup. syemé (R) el
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95,

96.

WO

Consider the lollowing statements :

Assertion (A) :  Citrus canker is caused by a bacterium called Xanthomonas citri.
Reason (R) : Brown rot of potalo is also a bacterial disease.

Now select your answer according to the coding scheme given below :

A) Both (A) and (R) are true and (R) is the correcl explanation ol (A}

3) (A) is true, but (R) is false

&1
\
\

Both (A) and (R} are true. but (R) is not the correct explanation of (A}

D) {A) is false, but (R} is Lrue.

Ueroups Cprusdlpdiaeiian geam, sbyale usmas adi Crri wHyd O ere
Hlénguemenyd 2 T m&HGs aTme).
A)  QurCermenvGurGrm LIl B)  Slenrenv@urCurym el ig Garevm
C)  evaeGrrenGuryr AgrfleGarer D)  aflavaGu Sipmiblefen.
Green ear disease and Downy mildew of bajra are caused by which one of the
following ?
A) Peronospora pisi B3) Plasmospora viticola

‘\Ef}-l- Sclerospora graminicola D)  Erysiphe graminis.
Jlereumevereubniem Gern 650G, eiamdl, présad, glolslars o dHluabend

QurgiaiTas sréeh Crrl oy @.

) Geelldhn aupbd yRiGeT Qwrl f Gl
B) e Cardlé seri e Cumis

C)  s@élurev-elé eumbd Glevenemenggim Gril

D)  grev vl G,



97.

98.

53 PGBO

Which onc of the following diseases is very common on muslard. radish, lurnip
and cabbage ?
A) Angular leal spot disease B3)  Club root of cabbage

d

W2) White rust of cruciflers D} Loose smut disease.

flev Cridoet srourdpdle om UTs6EI0aT des VWS sTauysslGen
DB TETTEOSIDT e euenii 4dlemw o aisn_Té@dianmen . Lrdeasu_i_ Gedaailes ghuiin
a widalil L Qs Siflelletmé 2 o @b sdle ol sbesatleomea Gl dusmentey

FJHURD HETHTTEOTas cuemTdd) @leleulrly S, hoHILHHNE.
A) 2 Wihd (PHHD B)  evapui Grmdl
C)  Gamuirienndlur D)  Qanuiena Gl mélen.

Some discases causc abnormal growth in a particular part or the whole plant.

The abnormal growth due Lo increased cell divisions resulting in large number of
component cells is known as
A) Hyperlension B) Hypertrophy

"\

£} | Hyperplasia D} Hypercytosis.

Hieme b sreoor G ruwmg ifléah gbu@Ghand 2 mever eutl. Crprh. ahsl Lgdléag

WL RGWL 2 sfrst CrmumED 7

A) ol Ny8sesdles o eien weshsLyi wmeu LD
Bl adlpmrige o enen pevdlfl Lmeu o

C)  Cube emssgle e eien Lirialedii wreu L b

D) sipresgdles 2 eter BRSERT WTaN LD
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Potlato warl disease caused by Synchytriim endobidrictun is an endemic disease

in the
A} Ananthapur district of Andhra Pradesh
B) Nilgiri district of Tamil Nadu
“J;' Darjeeling district of West Bengal
D} Managlore district of Karnataka.
99. Gallemaulley ‘Hleuliys s’ Crird 2 _adorLn &@eug)
A uedaflur dlymbletieu B) e Car sreongir
C) O&rell. Cmgengan coumeGal i b D) Geluellyrev eveuyeavesiren.
Red rust of tea is caused by
A) Puccinia graminis 3) Albugo candida

C} Colletotrichum falcatum \1'3] | Cephaleuros virescens.

100. graghsaila @eiar cuaniédl dleoowow ghuBsan Caneardlges eaub Qurmenen

2_(HeuUN @D Thesol el

A Ouetldlelluh @ eflCi. it b B)  Guecldelub Lty reuevsiav
Q) Clusofldedluid s ey Cemgdeonid D)  Glusoidlellub gpevmefis .
‘Halacidin’, a compound causing stunting in plants is produced by

A) Penicillium digitatuum | Penicillium purpurescens

C) Penicillium chrysogenum D) Penicillium javanicum.
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101, uigue I o wgued Mo d sfursl Qurepsdlé Sps eulI Garer gOlResiie
2 lueniilée sfluren alenLemws Coiey Qlews '

Q)
b)
c)
d)
GolGest :
a
A) 1
I.S) 4
¢ 2.
D) 3

uligue X
BL e65T el
aan’ Gy relGevien
griy GLTLIT &hig. 68T

SeLITesoBULeme deny&@Dh urdeflur

1 2 3
3 1 4
4 2 1

ugwee II

1.

2.

Hup gdesime
emeGLGrmeelumt
e &L #levery

eoy Qemilue CuellGrimyg .

Match List I correctly with List Il and select your answer using the codes given

below :
a)

b)

c)

d)
Codes :
a

A) 1
B} 1 4
c 2
D} 3

List 1
Nod genes 1.
Hydrogenase 2.
Pseudobactin 3.

Phosphate solubilizing bacteria 4.

b c d
2 4 3
1 2 3
3 1 4
4 2 1

613 ]

List II
Hup genes
Siderophore
Thiobacillus

Rhizobium melitote
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102, uligwée Igo ulgue e e oflured CLrmsdls dps @dllulll Geier @@ e
2 uen e aflure alenlsws Carey Glows

uligues I Ul igweo II
a) CQusnaesgfs I Gumeblioi wir fden
b) et g rrGesi 2. &l Cevetv
o) GanrGeun i & geay 3. srad) dgr
d) Guirmeh sesy ey 4, ouBur@serani.

) 4 1 2 3
B) 3 2 4 1
C} 2 3 1 4
D) I 4 3 2.

Match List I correctly with List IT and sclecet your answer using the codes given

below :
List I - List II

&) Piczoelectric 1. Polymer matrix
b}  Entrapment 2. Catalase
¢)  Colloidon membrane 3. Support
d} Porous glass 4. Biosensor.

Codes :
a b c d

A
NA) | 4 1 2 3

B) 3 2 4 1

C) 2 3 i 4

D) 1 4 3 2
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103, dpsaranid epnsmer saiasg sflurar aloamug SsTholsHGHsND :

L

II.

11

Qeunmyer

oeney sguueLdlea of zullflegdlar pafl weaag geo@een
LwesTURSHIUHD Q@ PleEIL LD & Hrest 1g T est e .

gl gereg g R mer eupdiet Syenemauls QT HSHE 8601 [HE T a0
UIflse. oerGrmeu Ggen 1Besfliflens 2 LGWTSLILED.

Oemaeme gUfiGhayes Geol.wa. Guey Bésbh. GeoLwslle eppdlulmnha
geaeig Gyl oL omu gBpéer Glsbg hamn GuTaHEseT&ED
Goudlpeond Qewbur® Geis oerCrrav Onpame sdfluss
el el L oyaraTg ybede b HoULGHDE.

A) [ whryn [ eflurerenes gyemme I wHmyd IV seunmeaemey

3) L. 1T whmid 111 sflureTteney gyamme IV geunmesia)

C) lafiwrerg eyerme 11, 11T bhnod IV geupreraeu

D) IV efluneig gyeme I I wpoud [ seuptamemeu.

Consider the following stalements and select Lhe correct answer :

.

[I.

{1

The technique used to separate DNA [ragments of an organism based

on size is Southern transfer.

Small DNA [ragments are electrophoresed in agarose gel Lo separale

the [ragmenis depending on their size.

Gel immersed in depurination buffer, denaturation buffer which

denatures the duplex DNA into single strands.

IV. Pre-ireated agarose gel is transferred on to a radioactive labelled RNA
probe.
Of these
A) | and Il are correct. bul Il and IV are nol correct
“\,B'). I, II, Il are correct. but IV is not correct
C) 1 is correct, bult II, III, IV are not correct

D) IV is correct, but 1. II, 1l are not correct.
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104. sfluren allel_sowd sedor@ilg :

II.

gereig aflge HedlH wendlea G rHuhssiudelaner.
safawupgssn, sl @Quur@ Oeflorab. ees Crrde@urGrendiey,
saier Uermgn, geag oydassiler Caiey. agaly @Gadsely.

seaieluss aaliuy udlaliud whb Weraly Hse e euddler LGLLITLSY.
saflpuiaemer Counu@saay Sauisallar geawig Hi& panaanen
oaussE. @Be qoarg alleunsenliy oes passan alife édHon

(LPEOID 6601 HEDPEHGUILIEID.

A)  Teafl whyo 1T geuny B I gsun wpnb I e
C) Sieman gD Fifl D) e HEID HeLm).

Consider the [ollowing statements :

Of these

A)

B)

0

D)

A
|

I.

{I.

DNA fingerprinting involves isolation, restriction digestion.

electrophoresis. southern blotting, selection of DNA probe, filter

hybridization, auto radiography and analysis of DNA print pattern.

Distinguishing the individuals according to their DNA print patterns

is called DNA proliling or molecular fingerprinting.

I is true and Il is false

1 is false and 11 is true

All are true

All are false.
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105. dpsaat eunbEukisenens Heue

mbn (Al ueuguTEsS Qariiellenen wrugm WLHIUY, WLIUET @)D HE
fparrboyse Qaraul oG Hopbs CsTplaplubd. Ga gy
UGs&EsTan yaag malBullamer dudflaln shag Cafihsmiey

Qe o_uGuwraliuio.

argeoind (R} @b sudlflaflln swes Gaflbsrie wpeopas, &Garralli srouflans
Zevevg QuUmpL_seflar gemoly, Hipennsewl QU HSaieieng).

EG8p Qerhsaiul Geren @MuiRssT cpeun eflurear eiloLmws Caibtlshés

A) (A) whmd (R) @reso o &, Cuaud (R) ereviug (A) elbe sflures aleréeid

B} (A} wpmb (R) @resspin afl, Cueyid (R) ereiug (A) edib@ aflwurer alleréaneie

C) (A) geun, yeire (R) afl

D) (8) ef). gyenmey (R) soumy.

Consider the following statements :

Assertiornt (A) : PCR is a good hybridization technique for screening DNA

libraries.

Reason (R} :  The screening lechniques are mostly based on the sequence of

the clone or the structure / function of the product.
Now selecl your answer according to the coding scheme given below :
\A) \ Both (A) and (R} are true and (R) is the correct explanation of {(A)
B) Both (A} and (R) are true, but (R} is nol the correct explanation of (A)
C} (A} is false, but (R} is true

D) (A} is true, but (R} is false.
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106. Spahomoi aur bl enend seued])

saDm (A)

argeoiid (R):

gereig @l bhee leaid fesaura Gewusur®. @rlgintearGurg
an QubGori Gy, on Cai: Qepdle urgsTsslu@ding. G
Qelbl sanatGai g QLo aarlu@in.

geaag guuabdvens aneond Sfse, ofadargalda Slenyod
2 (paurés, uraloey@sayea Geiw wpmpd Jdopwssy e@uug
Gurarpeneu @)dlev Sy migb. geaadg uTelGuCrev [ whHmyb III,
Jeopurer angheas B6s sflurer arrsmss Cerdlanar. Gevs
W eTesTel L& UTFULIG 676018 Snmeu.

QG Garmasiuleier GhllRser apob sflurer allo owus CarfblsRés -

A (A) ehobd (R) @reso@in of), Gueaybd (R) erasiugl (A) elDg eflurear aflenseweien

B) (A whnd (R) Greaw@o afl, Cueyb (R) erasiug (A) alibg sflure afleréean

C) (A) efl. oyeamé (R) seum

D) (A) seumy, oyeorrey (R) &l

Consider the {ollowing statements :

Assertion (A}

Reason (R} :

DNA replication is a highly complicated process. During
replicatlion. one of the parent strand is conserved in ithe daughter

DNA. Hence it is semiconservative replication.

It involves unwinding of DNA duplex, formation of RNA primer.
polymerization and removal of primer. DNA polymerase | and I1I
removes the incorrect hase and add correct base. This is called

DNA repair.

Now select your answer according to the coding scheme given below :

A) Both (A) and (R) are true and (R} is not the correct explanation of {A)

wII
\.B) | Both (A) and (R) are true. bul (R) is the correct explanation of (A)

C} fA} is true, but (R} is false

D) (A) is false, but (R} is true.

613 |



61 PGBO

107. £@&&n@uum@@16ﬁ“6@ gflwral Quinmsstil Heneng 2

Al freowseiis L wyuggy Qsrflémyub —  ev@igTCeuetni
B)  suGurmen e —  erlyQnl y&emr
C)  urd urmETsgs Qerelend Guemiy  — GuoGsaegea whHpb euLme

@iy Yy Peon

D) o wiugs g nrdl Carlurd — Lt SGLév.

Which one of the [ollowing is correctly matched ?

A} Recombinant DNA technology —  Sturtlevant

[3) Operon Model — Edurad Buchner
W) Semiconscrvative replication — Messelson and Stahl

[3)  One-gence-one-enzyme hypothesis —  Tatum Beadle,

108. mp Qe weetig @Quiiene Qamdlebdvaney o meuné@b oyfereine  erebiet Gleuedmy

SiepdeHILEGSDE 7

A) @y eDdE B) @@u‘ﬁ@ Gleveurs @i
C) Slemywi D) wyiey / SeliGrmi.

One strand of the DNA double helix forming RNA is called

A) Coding strand R_H} Non-coding strand
C) Primer D) Probe.

109. yeargopsien oo BluselCGuin el Gdlsr wrbpsdar waea. o6 Urssdle oo
SbiGem opfled wrHpLURSEIDG. Hbsesw LIHDAGET e GlUSTT P&l

LIID 7
A) DT M 60 B}  CymesrenGeuil agedt
C)  HleuGeeirev @) wrhHmibd D) mrer@aeaiay e{dl wrhni.
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Change in one nucleolide in DNA results in change in one amino acid in a

protein. Such changes are called
A) Transilion B) Transversion
\ﬁ'jﬂl. Mis-sensc mutalion D) Non-sense muiations.

110. ereller ( ELISA) THHG uwueTURSSHULGEDE 2

A)  eoeuren gyierestgenwl MNfl&a

Bl uysb ssdlatseiiul

C} geagemea gallambluisds

D) iUl yresens SemLLTenD SrlL.

ELISA is used to

A) separate viral RNA 13} purily protein

C)  isolate DNA "D | identify specific protein.

111, ulgué T gy ulgué I 2 Ler sflural QurGesdés Sps GO Geren @BlHeeN e
2pgtiueor e efluren aflemLowsd Coiey Qews :

ulquwes I ulguwes II

a)  wevl gmyb 1. Qprdlaeve

b) LeuBU(HImD WIT T & it 2. oyellelr eretorGleoori

€) &g ceGuTD 3. e Gewhme 26 &b

d)  urdsllévev 4. eyrélcoGLGyev.
GBOlbEser

a b c d
A) 3 4 2 1
B) 4 2 1 3

C) 2 1 3

SRS

D) 1 3 4
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Match List I correctly with List II and select your answer using the codes given

below :
a)

b)

c)
d)
Codes :
a

W\ 3
I3) 4
C) 2
D} 1

List 1
Yeasl extract

Visible marker

Anlifoam

Ballles

1

3

3

4

4

2.

List II
. Fermentor
2. Olive oil
3. Serni-synthelic medium

4. Luciferase.

uigué Ig uigue Mo sflured Qurepssls Sps GBI Heter GiluiRasaier

opgtuem ey sflunen elleol ows Caiey Gals :

uliguwen I

Ga. @\Camm

Ul guwen I

1. mersgepgurod 0l leug)

Qumrildley fsaemeudeb wen 2. CaBevmume

glireuwires et @ium mef

3. ure alallé paellaa L

GamGemenigniey oy &HedlGLeny 4. erib.erei.ghl.

a)
b)
c}
d)
GoReer :
a
A) 1
B) 2
C) 4
D) 5

3

5. GUTGGN60T 2_GOOIL &,

G_E:_)’] [ Turn over
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113.

64

Malch List I correctly with List II and select your answer using the codes given

helow :
a)
b)
)
d)
Codes
a
Al 1
3) 2
) 4
D) 5
“P
gaihmy (A

List 1 List II
K. Ideda 1. Immobilization
Entrapment 2. Gasohol
Liquid el 3. Boll Weevil larva
Cholestrol oxidase 4. MSG
5. Flavouring.

b c d

2 3 5

3 1 4

1 2 3

4 3 1.

& hElLukE e & SEIT

srgeorn (R)

RFLP eraiugi spmp SyeoLwmst peon. @emar DNA afles geofliu
suflemgemw NeTubn 2. seyd wHDID Sle yere; DNA Gaemeul
WIOEALESS

RFLP fle wédlunre gseocaal 55 EDS. ety E\a 6ph
Leveusm sl L. GgudpempurEn. whnl odle Grrd Csemeuliafiib

Llawdipenn.

G Qe Rs.a0n Deiren @HISOseT ppoold sflure alleoows CoipsHés :

A) (A) wHnb (R) @uesm@n ofl, GQueun (R) sraiugy (A) albe sflure alenédbsneaes

B) (A) wbnd (R) @uam®o ¢fl, Gueyd (R) eraug (A) edibg shliurer afleréeal

C) (A} wihmnib {R) @yesor@in Heum)

D) (A) &fl, parman (R} seumy.
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Consider the following slatements :

Assertion (A): RFLP is a marker system used to follow a particular sequence of

DNA and large quantity of DNA is required.

Reason (R} : RFLP provides valuable information but is a mullistep procedure

involving many procedures and is time consuming.
Now select your answer according to the coding scheme given below :
A) Both (A) and (R} are true and (R) is not the correct explanation of (A)
kB)ﬁlx Both (A) and (R} are true. bul (R} is the correct explanation of (A)
C) Both (A) and (R} are false

D) {A) is true, but (R) is false.

EPHHTIL eUTSHHWkHTS Heuah :

smbn (A) ¢ o difiu Fugdi CQarddest. Gubaswrs smeoiiLGd Gl sefle
SrGUIT LUTH&TIL) @61 (Lpesor(h.

sryean (R): 2 llflu ghelli Qsrddlsd, guedi Hicadssn spalluregd.
2ieu Eeo @i HEBD HETanDd LUSHHGL BITEH LD g
urgismiyster o fser sbubswTs Gawdmdlpedr GereamL LGS
Glum et

FCy Qar@ssii.(eter ePipser wpeud sflurer efloous CariCshes :

A) (A) wibod (R) @reor@in geum) Bl (A) &, syemrev (R) seup)

C)  (A) whnd (R) Grem@o eifl D) (A) seuny, Heme (R) el

Consider the following statements :

Assertion (A) :  Biopestlicides include naturally occurring substances that
controls pests.

Reason (R): DBiopesticides are pest management tools based on micro-
organism. beneficlal nematodes or other saie biologically based
active ingredients.

Now select your answer according to the coding scheme given below :

A) Both (A) and (R} are false Bj (A) is true. but (R} is false

“CI | Both (A} and (R} are true D) (A) is false, but (R) is true.
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115. Ge#sCyrllest wyugm seévBelei il wHnd yoslloan sTauyhsEhhE, GL D
wrHnb Qeledlame, sfgp&rrmumrj)@é\)\ergyj)@ eTelTLy &ML 7

A) &G Guwrenrev dlifles Gep

B)  aflevsosCu 6% CarGydlurmpn

C)  oevdhl@rmyg eotlur oveivelaflQuraflGuiryp

D)  urerGLmumr wsGLisr.

Cecropin gene cassette when transferred Lo rice and tobacco shows resistance to

'\AJW' Pseudomonas syringae _ B] Krysiphe cichoracearum

C) Sclerotinia sclerotioruum D) Pantoea dispersa.
116. (pev&EaDn| e WTETD HTLLIYSHET 6 LI 6L

A ulrseflé sramiufn ypdeuius Gemihise

B) wédluore auemernt siarallen Gugn

Cl  erdiflumsdioet oyeus e maTamer

D) moangous Gemrurer 2 UM eudlus@sset.

Molecular markers are

A) Phenotypie traits in crop B) differences in essential otl content

C) antigens \iﬁ’}. ‘ﬁll Parameters of molecular biology.
117. 2 Sirpp SyudHssas aeliblaTeai@nDd (pe

A) QUImmE S peren Hen iy GIum (e B) 2 euCGuirsbiCrmrGL e el

C) &y 1g 657 D) Guuws.

Resistance to abiolic stress is by

A) Compatible solutes 3) Osmoprotectants

C) Cutin | D)  Wax.
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118, oyuér gevents GLpp greumsalldipia Couadinag Geram. upye walls Qmrd

aTg) 7
A) GefGi 6w B)  @ens@erCeyriGrmeilGL e
C)  dlaven Gomendles@aymenoL. D) CaMV 435S s wigguiems.

First active human enzyme produced in transgenic plants is

N

A)  Ceredase ) | Glucocerabrosidase
C) Glycosylceramide D} CaMV 55S promotor.

119. &pémedos eumsdlumseanstd sHeue :

Gamy (A)

gryemd (R)

2 OIF 2 mwrHob o s sbubsiu’L Qedgerpur@b. Gl
ones QUIT . saend Smsduamnsgg s 2 uCuraapeieon $lmbu
QuDSEHH! QUL senirs Gladelleyenen Qprdlas wrHydlaTnes.

2 St 2 @wrHpd wvrougd eegrll. Qsrlbsraasafien
uwesTLIGEID S

&G QerGasiu Qsien HiRaen apebd sflurar alen_eows CaThllgHés :

A) (A) &eumy,

esimev (R) el

B (A) wbpd (R) @yecs@n of]

Q) (A) wbnd (R) @raw@on seim)

D)  (A) efi, oyeomey (R) ereiiugy efluren aflerésmnciey.

Consider the following statements :

Assertion {A)

Reason (R} :

Biotransformation is a biological process in which an organic
compound is modified into some useful. recoverable products by

enzymes contained in the cells.

Biotransformation is uttlised on a massive industrial scale in the

steroid industry.

Now select your answer according to the coding scheme given below :

A) {A) is false, bult (R) is true

“'xﬁf”." Both (A) and (R) arc true

C) Both (A} and (R} are false

D) (A} is lrue, bul (R?) is not the correct statement.
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120. sflurest gabhemme sHevorHuily
A)  M.S. Bgqub, yEhens sueniiydhg 2.uGursuufdng
B}  M.S. digwbd, urdhgfur eueniliiyde 2. uCGuraslu®dlpg
C} M.S. dgwb sreuy Haeuantiyshe 2 uGursiu@dpns
D) M.S. figuid, g éuen euaiuysbe 2 uBuresiuGding.
Select the correcl statement :

A)  M.S. medium is used in fungal culture

B) M.S. medium is used in bacterial culture
“¢) | M.S. medium is used in plant tissue culture
2) M.S. medium is used in algal culture.

121. ulquwé I ey ulgues IE e et eflured Qurepsdls &ps @RS Qerer GHUGsale

g i llér eflure afleL ewg Carey Qeus :

utiqué I ulqué II
a)  bgeoear grsug Hleove 1. enloour
bl appdu sreuy Hlame 2. Oeugqurr
c) Blg&@n Heneu 3. OeallGisuvwen
d) Gereylyd dleve 4. surelevetiiumr.

eilpeet :

A 3 2 4 1
B) 1 2 3 4
C) 3 4 2 ]
D) 4 2 3 1.
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Match List I correctly with List II and select your answer using the codes given

betow
List I List II
a)  Phytloplanktion stage 1.  Typha
b) Submerged stage 2. Pistia
c}  Floating stage 3. Scenedesmus
dl  Reed-swamp stage 4. Vallisneria.
Codes ¢

A) 3 2 4 I

B 1 2 3 4
3 4 2 1
9] 4 2 3 1.
122, & - e yen, ergy siflurel QuitpdsiRereng 2

A} sisid oCrmend LD — urendl gypblest Guwd s oulL g

13) fr el e ss Sl b —  z_evdlet blal Qulu =i hoyd
LQenss S h

C)  Gungoenl i — GLITHdle oglewre
Qeasuflaaiul. b

D) Qufl s £iCb — L sTHeeT o emem @Gl

GLL UL g

Which one of the following is correctly matched ?

A Sardar Sarovar Project — Built on Bhagirathi river

\J’i] I.' Narmada Valley Project — World's largest River Valley project
C) Bodhghat Project — Costliest project in Gujarat
D) Tehri Dam Project — Built on heavily forested area
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123, ulgué ¥ ey ulquée I 2 cer sflursd Quinmedls Sbs GOl Gerer @hld@setsn

2 ines_les sflures allen sows Catey Glaws -

a)
b)
c)
d)

GluSDeer :
a

A) 2

B) 2

C) 4

D} 2

uligueén I

sTeud Wwhiyb 2ene) Camlur(

&eoo L higefled maiTey

SUTP&HEmE ML

glebre & eugh]
b c d
1 4 3
1 3 4
1 2 3
4 1 3

uliqwes II
Qisud et
aléueblen
QL L&

T BT .

Match List I correctly with List IT and select your answer using the codes given

below :
a)

b)

c)

d)
Codes :
a

| 2
B) 2
C) 4
D) 2

List I

Age and Area Hypothesis

Continental Drift

Life forms
Synecology
b c d
1 4 3
1 3 4
1 2 3
4 1 3
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List II
Wegner
Willis
Whitliakar

Raunkier.
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124, sfiwrer eurddluganssd sHeos@ily

A e llflaoL adiug 9O GRBHloe Sewiy gaidle eRuliiL Cprsdle
e uURD el QuT@EeaTameledT oy6mey @D

Bl usome sraghes, seupdla melléCatsmallaCurg @llu peflou 2 Hugs

Qe wdlermen

C) wsaob HeTCwTITe HHs aeubsiuBbOUTE &bl QuTEdLaer, Hler

WposTeow 2 Husdl eratiu@in,
D)  Cryre Bihebd srarhsenédd Hlheh Lli eariu@ib.

Find out the correct statement :

-
1

Ay

Biomass is the total weight of organic matter present in the ecosystem at a

particular time
B)  Green plants produce solar energy during photosynthesis
C)  Total amount of organic matter {ixed by plants is net primary preduction
D)  Standing crop is the number of plants standing erect.

125, gneughisel eibg b 2 WiThHn Sbssdle ouqiuem wlé, @G Brel sTeurh wHRb QnGH

Brefl HTeuTDd erer @Tesor() cuemssenm el Uifldaiiu Geirenes 2
A) Qeudun B}  wep
C)  epefl D) B 2 mighese.

On the basis of which abiotic factor. plants are classified into 2 groups :
short-day plants and long-day plants ?

A) Temperature B) Rainfall

' Light D)  Water absorption.

[_GISj\ [ Turn over



PGBO 72
126. @pdluralld wpadiwesiie o diflar vabviLe, Gke Hineuiuli_g.
A) ENIDET DEMEUSHEIT 3) JalT& IDEOGSEI
C) GamamlL weneuse D) meudll Lemevaen.
The biosphere reserve which was established [irst in India is located at
Al Mysore Hills B) Coorg Hills
C)  Kodai hills ! Nilgiﬁ hills.
127, @idluralar sgopflss a6.4] wpenCenbnédles spans aainy Sempbsliufuert wrf 2
A)  (pevesieul ugig HeurD B  weveeui aadid 2yl
C) oot Canmdl urur D) (pevesTeurd lurrurr 208 .
Fati’ner ol nuclear power development in India is
A)  Dr. Abdul Kalam . B)  Dr. Salim Ali
=) Dr. Homi Bhabha D] Dr. Baba Amte.
128. qu_b ereirumi 1959 6 @lensé G,
A) (a:_arr@eﬁ spevdlans. ehdl Lyadlng
B)  Qungen e flgsdng, 868 o busdlurdns
C)  Qur@et sx@meyding. 568 hHdng
D) GQurepen Hengdlng, 668 @ondpg.
Odum in 1959 coined which simple catch phrase ?
\AY' | Matter circulates, energy dissipates
B)  Matter assimilates, energy synthesised
Q) Maltter percolates, energy flows
D) Matter decomposes, energy decreases.
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129. ang&&ML_ CUTHSWUkENETH Seusdt

gabry (A) . 4500 S LITe@Ens@ SUumés (pupeugie uest! Ut.eud 2 eTensHrer ki@

Breuy @)eifimen & eoliL(euglérana.

gnrewid (R} @ gdemuet sreuy Geuhsst Ggaime 3600 s 4500 B L mé@en

GG sreIL@dleTmet .
Gy Qer@asuul.Qerer Pld@ssn wped eflurer alloLoug Gatbbiahes :
A) (A whnd (R) @resn@n af. Guoeb (R) astug (A) ebe eflurer elenédbab
B)  {A) whmd (R) Gem@o fl, Guoeyid (R) eresiug (A) edne eflurer afleréandve
C) (A} efl, gyermen (R) seumy
D) (A) geum, syemen (R) e,
Consider the following statements :

Assertion (A) : Beyond 4500 m, there is snow and is known as the 'snow line’,

where vegetation is lacking,
Reason (R} : Alpine vegetation occurs between 3600 m to 4500 m.,

Now select your answer according to the coding scheme given below :

.
|

A Both (A) and (R} aTe true and (R} is the correct éxp]gnation of (A)
B} Both (A} and (R) are true, but (R} is not the correct explanation of (A)

C) (A} is true. but (R) is false

D) {A} is false. but (R) is true.
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130. &psoetoiL surbdlunsaad seuah
snhm (A) o uedl gfleen uefluurenset 2 GHEeusTa® 2 oL TdlsTme.

srgend (R) : uvefl glle@ée ghp a@saser.Gsdr e gfluyd ddaar gflynb

24 &D0.
ECp QanpestuGeran GO cweab sfurer eloows CorhElsHes :
A) (A) oDmd (R) @pesarGn sfl, Gueyd (R) eredtugy (A) b aflurer allstéaio
B) (A) ohoib (R) @yeorb $eaimy 3
C) (A) efl, yemen (R) eretiug (A} ellpe &zﬂqurscs; alen & aEe
D) (A) seumy. syeoimen (R) eredtug (A) b sflunes allendaweuen
Consider the following statements :
Assertion (A) :  Glacial lakes are formed by the action of glaciers.

Reason (R}: Besl examples of glacial lakes are the Puzhal lake and Chilka

lake.
Now select your answer according to the coding scheme given below :
A) Both (A) and (R) are true and (R) is the correct explanation of (A)
B) Both (A} and (R) are false
" | {A) is true, but (R) Is not the correct explanation ol (A)

D) {A) is false, but (R} is not the correct explanation of (A).
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131. Spaseion. cun&elLRseaeTsd Hale

b (A  @Edul QueheLd. rlle s wphpd umsrer alfgLm

@idluralla sL.d anths 2 ifien gyemwiure alentygdlsrpen .

sryeoid (R} &Lé& ohnil bhewrea’ whmid fleGarurt Seysefla Leaenl uTenash

2_edlev W HoheeaeusenT@b.
£8yp Gerfsaiul Reter @hliRssr apad eflure elamL.cows CorblsnEs :
A) (A) #fl, gyemnen (R) seumy
B) (A whob (R) Grem@in sen
C) (A) geun. gerre (R) aifl.
D) (A) wHob (R) Gyyedor Bio afl. Gueyd (R} eredtugy (A) el sfluren ellenéeab.
Consider the following statements :

Assertion (A) : Indian Ocean, Arabian sea and Bay of Bengal constilute the

marine ecosystem of India.

Reason (R) : Areas near Kutchchh and Andaman and Nicobar Islands are the

mosl richest coral reefs repuled in the world.
Now selectl your answer according to the coding scheme given below :
A) (A} is true, but (R} is false
B) Both {A) and (R) are false
C) (A} is {alse, but (R} is true

“ ) ". (A) is true, (R} is true and (R) is the correct explanation of (A).
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132. efeusw sr@aet ubld abs sabry eflurerg 2

133.

A)  eleusmBaefler cumpbLTRTHmEEH GOD&HEDG
B) weimaslan suagensubd 2 HuUSHHS dpoatub @onsdlng
C) afeusrw dlansaler gwereowdlée ovrhsamer pHag uvdliseEbel
LT gy minbhme) ‘
D) afeusrdlseflen gl 2 LGureaddlh® ue 2 uGurspeien QuUITEHL Gemen
<efladlng.

Which of the following statements concerning Agro-forestry is true ?
A) It decreases the income of the farmer
B) It reduces fertility and productivity of soil
C) Planting trees near agricultural fields is not safe to crops

h__D’j'._f It provides useful products to the farmer for their personal use.
LRGeS allaneney QTWbseT, ahs Setald 2 eieTar aa@LEmS] LHN Ghe sabn)
sflureng 2
A) CO,-58% :uiGgetn — 15% : CFC — 18% : N ,O wbmib NO —~ 5%
B) CO,-57% :8Gge — 17% : CFC — 22% : N ,0 whmid NO — 4%
C) CO,-59% :8Gget — 15% : CFC — 19% : N ,0 whmip NO — 6%
D) - CO,-59% :Ggemn — 16% ; CFC — 17% : N ,O wimio NO — 8%.
Which of the following concerning greenhouse gases composition is true ?
A) CO 5 - 58% : Methane — 15% : CFC — 18% : N ,0 and NO — 5%
B) CO,-57% : Methane — 17% : CFC — 22% ; N 20 and NO — 4%

\\E_;}’ CO , - 59% : Methane — 15% ; CFC —l19% : N,O and NO — 6%

D) CO , - 59% ; Methane — 16% ; CFC — 17% : N ,0 and NO — 8%..
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134, ulgquée I o ulguée Mo e sflurel Quress)s &pd GOudl.Qerer @duiGsetler

opgrne e sflureasr elleot ewg Coireay Gals

ulguwen I uligweés II
a)  OudanGuorgGertyetium 1. Qurgf breur@
b)  re-g gumdloanhs Le Crrise 2. aThdwd wreEuT®
) DemrGuorm 3. emplL Gyl oraELTE
d] oW HYbY WeTL 6D 4. coije@henTL OT&UTH.
@liser :

a b c d
A) 1 2 3 4
B) 3 4 1 2
c) 2 3 4 1
2] 3 1 4 2.

Match List I correctly with List II and selecl your answer using the codes given

below :
List I List II
a) Melhaemoglobinaemia 1. Mercury pollution
b)  Knock-knee syndrome 2.  Lead pollution
i+ Minamaia 3. Nitrate pollution
d) Central Nervous system affect 4. Fluoride pollution.
Codes :

Al 1 2 3 a
A\ 3 4 12
o 2 3 4

Dy 3 1 4 2.

_6"1__3_ | | Turn over



PGBO 78

135. Spsacion mrr&af\iuréj&msﬂéﬁ‘ SHeued :

gmhm (A ouigdlurer wHDD 2 wInrer LIRS, T H&6ismer

eug &L (Hdlemeot.

argesmh (R Seusey MAaflglGurer, CueargldGlugr @ewmgesr whoib
vireShur el euresTeblos Gumedhum wkiseT WHD WY ESHEETEH STLIG ey

Sidle grdl gimeiaer o Nighad saTann O\eHTaILameu.
£8Y Qar@abaiul Reien GouiGess apan afiurea aleomug CaibblgRés :
A) (A} &f), gyermen (R) geuny B) (A) seumy, gyemmer (R) gl
C) (A whobd (R) Gueoin sifl D} {(A) ohpd (R) Gyesa@nd seumy.
Consider the following statements :
Assertion {A) - Dense and tall trees filter out dust.

Reason (R) : Ficus religiosa, Manifera indica and Polyalthia longifolia trees

were found to be betier dust collectors than other Lrees.
Now select your answer according to the coding scheme given below :
A) (A} is true, but (R} is false Bj) (A} is false, but (R} is true
~of | Both (a) and (®) are true D)  Both (A) and (R) are false.
136. &phseaaie eurhdluksaend seuafl :
gadry (A) ;o edleusmwl QurmLseen arflliug, s pédlunre wraumE.
gryeord (R} @ @eupeop eflegb@urg, gisaae, CO, oan Gyr ariuessi
WHOID NBLTET i hansuBaensr GleuallCuibmdletmer.
&8y GenRsal Gerer GBI apabd sflurer el owug CarhbleGés :
Al (A) wpoin (R) Glyeasshin seumy
B) (A ef. syemés (R) seuny
C) (A) geum), Syemmen (R) el

D) (A} wpmyb (R) Gesar@bd aifl, Coan (R) erestugy (A) afpe, sfure allenéain.
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Consider the following stalements :

Assertion (A) :  Agricultural Burning is an important pollution problem.

Reuson (R) : Burning of plant residues give CO,, particulate matter.

hydrocarbons and nitrogen oxides.
Now select your answer according to the coding scheme given below :
A) Both (A} and (R) are {alse
B) {A) is true, but (R} is {alse
C)  (A)is false, but (R)is true
D Both (A) and (R} are true and (R} is the correct explanation of (A).

137. 2.0flan gyevwiyser. sl uCeniu fleney LIHHSSIOTTE FHUBD IDESD &M TEDION &
@is Blowbes gaaiulld @dldnba Sapyurg dae gpul®, Jearerd
o FlSTDesT. B8 eThe Hlemey 2
A)  afpedl Hlene B) Gamiey Hleve
C)  mell Blemes D) wrmib Hleve.

Any extra stress caused by climatic factors in ecosystems leads to this point.

This leads the system (o an irreversible change involving a collapse. What is it ?

A) Collapsing point B) Dipping point
“-&f}. " Tipping point N, - D) Changing point.

138. euweaeilier e, ysunpdiar mrjioqa;eﬁ ArHa LODD e  U@HWLTe
QTLEfleEnseb @hs Lei 2 sading.
A} wesy eyemlser B) &b oeneney
C)  @rmeofle Lgly D] D&t 6e00TET el SHE.
Which is the study related to mapping of soils in the fields where all soil

researches are done with the help of this study ?

A) Soil factors B, Soil survey
C) Edaphic study D) Soil monitoring.
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139.

140.

14].

AQI eredimm ey erediem 7

A} gGum @euredllly GlenGl_den Bl g @emallly GaminGe i
C) g @eursttgliy @e1ol e D)  gr @emeliig Bl dev.
Whalt is AQI ?

A) Aero Quality Index . B) Air Quality Indicator

C)  Air Quantity Index ‘\.Ef) Air Quality Index.

sThley, Glbe 2.Carakaet QLTgIOTE 2 sfeTe .

A Quief, srfub, Qeustel, Cal Blun

B} Quief. syreels, srfud, Galdlub

C) OQuigf, enfud, sspren, Califlub

D)  GQureh, gssnran, @Crmblub, Gal Bl

Which are the commeon metals present in the air ?

A) Mercury. lead. silver, cadmium

B) Mercury. arsenic. lead, cadmium
) HI'- Mercury, lead, zinc. cadmium

D}  Mercury, zinc, chromium. cadmium.

Brbes FlLn o wdaundl su-2 gal Sl b. Ga Grdurals urby whnn Caer
allawd 2 Husdl Genuw @b, Cuepd allauwpdla) fésamssen Cumpaal Cauding.
A} Fln Hevawd B)  umby yiisT

C)  (psoe suid D) cuetreuTit SremTTeuLID.

Which is an adivasi self-help project and il supplies all of India’s snake and

scorpion venom needed for production of anti-venomn for medical use.

A) King Institute B) Snake Park

\&.‘.ﬂ Crocodile Bank D]  Vandalur Zoo.
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142. &péaeoail eum hdlumhs amens FeuenT

gaDmy (A

&ﬁgmub {R)

aflod Hleonbhs &flasamer @edlaGrays Gleleuprad HFeTTe
2 GOILM@GD HES aUTUSHGHEHD HTHD A&HHD JOLERHDE.

@er e CreendE S@UULU@GD  sfleyset,  PVC  Gurdp
QUTBLBaTSH QETEIIG HBLLSTE Jameauser  eafleugearme
ureflaflemenes @8atmenyl. e QuetGerlenLwr&dler bHMb
ureflgCermflGear Lt e QuesrCemr bygreney Gurern méedH

BEBIEOWD 2. 6716 QUITLSSET 2_6ToTL T Shledment .

&8 GerRaaiu Herer @PuiRas apab sflures aleoamug Carbois@Rss :

A)  (A) vdpd (R) @resor@h &M, Cuend (R) eredtug (A) allihe eflurer alenésindves

B) (A) &fl, g erma (R) geum

C) (A who (R) @yeor@ib &, Cueb (R) aretiugs (A) el sflures allenéen

D) (A) whmid (R} @)yeoor(hd Heumy.

Consider the following statements :

Assertion (A) :

Reason (R) :

The disadvantage of incineration of organic wastes is the
liberation of toxic gases and thus the air pollution.

Solid waste used for incineration coniains malerials like poly-
vinyl chloride which on combustion lead to the formation of

polychlorinated dibenzo-p-dioxins and polychlorinated

dibenzofurans which are highly toxic.

Now select your answer according to the coding scheme given below :

A) Both {A) and (R) are true and (R} is not the correct explanation of (A)

B) (A} is true, but (R) is false

\Qf | Both (A} and (R) are true, but (R) is the correct explanation of (A)

D) Both [(A) and (R} are not true.
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143. #paoeii. cunddlukmeamend seuel

FaDn) (A)

sryenin (R)

Qupeurflurer Qaraiareranad GEDULSTEID Geoneurear &plGea
Beuwreausrat dles sfousst CaranL gl seflasamen

@let Seor Cragett Qaieugl e seufduren b G0

@)\etv & oo Gry expeguéhih S@uuiu@d  efleyast  PVC Gumestp
QuTEpL semend Qardog BUuUsSTR eaise afleugarre uTed
GCarrfGmi L. e QuaGsrie wunédlar  wdpn  umel
&CerrMNBeml. e QuearGan Cyyeaien Gurmelip méa euTyhser

2oL Sledmen .

FCp Qarpesiul Gerer @Plussr apebd sflure el awg CaihblsBss :

A (A) whm (R) @rampo efl. Guad (R) eeugy (A) elbe sflure allenseab

B) (A) seum), gyeomen (R) el

C) (A efl. gpemen (R) geumy

D} (A) whop (R} GesorGod efl, Gueynd (R) erettugl (Al aflb@ efluren aflendaweuen

Consider the following statements .

Assertion (A) :

Reason (R) :

The incineration of solid waste with high organic content is an
attractive option for reasons like the considerable reduction in

the volume of solid material and smaller residue.

Solid wastes sent [or incineration include poly vinyl chloride
which on burning lead to the formation of polychiorinated
dibenzo-p-dioxins and polychlorinated dibenzofurans which are

highly toxic.

Now select your answer according Lo the coding scheme given below

A) Both {A) and (R} are true and (R} is the correct explanation of (A)

B) {A) is not true, but (R) is true

Q) (A} is true, but (R} is not true

.I;‘II
D) Both (A) and (R} are true, but (R) is not the correct explanation of (A).
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144, EPpeumd el roer UDdL snpnissemer seuatgdle CeTeieteab.

145,

I ananl agedt eumy| BHlameullés 2 emem gp(p Wleé STHTYCTIDTTSID, LB&‘Gqu
Gevareatgunrest erflQILITHET 24D,
1. o afl ohpal. aarCol Le@IDGHEnl UTYSHGEDHD. o o GleuUWDIT SBYID
2 (HeUn &I G). |
. Baeand Ceerayred sauonsd Gebllaaaybd, Coun @LisEnée Gl&me (@
blgcueueyd Guewid.
Guohargnb spryssila 2 amabubpaa(hener)dh CoibOaH :
A Topoo I B) Il wpoyd 1
C) 11 i (hid ) I o (e,
Constder the following statements aboul hydrogen fuel :

L. Hydrogen is the simplex lightest fuel in gaseous forms.

lI.  Itis carbon free and there is no production of greenhouse gases and

no global warming.
IL. It is easy to store and transport being very light.
Which of the above statement(s) is / are not true ?
A) [and Il I3) II and 111
C) Uonly D) !, 0l only.
smeuy Glgaedles Cmd hswLras sawb CedagCardu. QeusGaurn uallsamens

Oleiud ety HRsRGamsTe Ceran GladgGameay GERTHWLTS 2 e &Hsludng.

gpsaranid veadlows Gedyd Qrrdiles omssdlar Quuars Carhs@.

o4 ot

of: {_.W*l o }\ -2 oW

o /}\ m’wﬂ( Ok —
Ol

Claoh

en

A) B-(1 - 4) aganGLreensbearsy B} B-(1-4)asGen @ensGearen

C)  B-{1-4)eealardlGL s D) wll-1)eepCardGLsn.
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146.

- DH

Cellulose. the major component of plant cell walls can be broken down by the
enzyme cellulose. which has 3 components with different functions. One of the

component catalyses the [ollowing reaction :

ol
EFEh
o4 Ok -
Sl .

CTlpolr

Select the name of the enzyme :

A) B-( 1 —~4 ) endogluconase B}  B-{1-4)exogluconase

™ B-( 1 -4} glucosidase D) o-( 1 -4 ) glucosidase.

Qarifiharemeossr, Slambleaoubsst, QHREETOas o dlusme ghubhisdudie

@bflu sTR&eaNa urluene Bsab GonhesTe saps TG HILD 2 Heursdl

QEwRUOSBIULLE. sapHs aThea geundludlar wpadlu Grméasid

A)  a_giieant whsellar HHUELNAES 2 sain allne Coemeauemwé swursllss

B) erdlan ophpbd ep Carfiberoassia apauburplaefldr Cpaeamu FR
Llgww

C) LB alipesersabd, wysH Comabsrsabd LHsHE FUD@SHSH &6TEH&mN
SPsg Al Tved GUHULSDHSHTS

D) Guheesti @lena 26l He6 0T a.

As the forest area in India fast dwindled due to industries. power projects,

highway roads etc. the idea of social forestry was mooted and execuiled. The

main aim of starting social forestry was

A)ﬁ to meel the firewood requirement of local people

3)  to the meet the raw material requirement ol some industries such as paper

and pulp

C) to avoid the destruction of natural forests for want of firewood and timber

")\ all of these.
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147. sblprngd 2 6Ten (piubser ahe s_pusHlée Quui Glubme ?

A} ojemisbEl B) e sd)

C) @M et lena &l D) enporee deiend.

Muppandal in ’I‘ai:nil Nadu is known for the generation of

A) alomic power B) hydel power

C) solar power \j.‘l]ﬂﬁ- wind power.
148, gyameid 2 awdiey, LweuBESLLED afigean @ G)aeom s g

A wGrefum U 235 B)  uy@peun U 238

C)  Cen’ Guresnwbd Pl 636 D) Garflubd Th 876.

The fucel rods in a nuclear power reactor is made up of

3 uranium L} 235 B) Uranium U 238

C) Plutonium Pl 636 D} Thorium Th 876.

149. sLelan Gupuriiilar s@BEmeeh, sueter sypsde 2 den Gellihs BnaGDh 2 e
Qent Seupmeswaw’ LussuRGE, sl Bild Geaiiunrs Gallébsluleren @flw

sédleow Hlareshure nrhpn Gleusd @ealsd oimpaaiufane.
Al sLe Gleulud sFoeTu@RSEIL Ceuliug Fevend

B)  &Lé Qeutiu e&dl brHoo

C) s Gl fleove QumsEih sryeeer

D) sl eid Claewafle@h Gleuliug seeb.

The conversion of solar energy stored as heal in the ocean into electrical energy
by making use ol the tcmperature differecnce between the warm surface water

and the colder deep water is known as

A) Ocean temperature equalising conveclions
“-H'j.l'l Ocean thermal energy conversion

C) Ocean temperature cxpansion causes

D) Ocean thermal expending‘convcctions.
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150. yGreflun Guibemasles GeoudiGon cumesetta EsdlETng. s EHeT e

151.

LD GuibenawnsCe oguband Slerll. Qumsenms o crers. Hamioshdl 2 fikhd)
Qeilwg GCeemeulu@b spm L heT @)g)

Al yGreflub 238 B) yGpefiws 235
C) yGreflwb 234 D) wGgediun 233,

There are different types of Uranium occur in nature, of which only one is
naturally occuring as fissionable material. The onc that is required for the

production of nuclear energy is

Fa!
A) Uranium 238 \B) Uranium 235
C) Uranium 234 D) Uranium 233.
HPESHEIL CUTHS RIS & Sevel :

ey (A Grrg el ped cusic so ellogsella. né danis sdliaen
aNeng (pemenSHGemeudh SHenl ILEGED. :

sryed (R} @ flaliys  sdlisgamer o dlghad dHaoedlaeian ol GLmeCrmbd

Hinblaer, ellens (pemeTdseney 2msGHald@Lh.
FRp QarPasiuiBeier @GHlulisst cpabd eflurear alom_amug Coihos(és |
A (A) saun. gere (R) efl B) (A whnb (R Gyesm@n aifl
C)  (A) wdpd (R) Gyeo(n sHeum; D) (A afl, eremmen (R) seum.
Consider the following stalements :

Assertion (A) : Far red light inhibits seed germination in positive photoblastlic

seeds.

Reason (R} : Red absorbing form of phytochrome pigment promotes seed
germinalion.

Now select your answer according to the coding scheme given below :

A) {A} is false, bul (R) is true B) Both (A) and (R) are true

A
(|

C}  Both {A) and (R) are falsc \DJ | (A} is true. but (R) is false.
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152, &p&heanL aursdluiisaners seuel |

gbdny (A)  : Guyy el sa7 aetiau_és allogawen, dleuny gpefidles (660)
oeusg Hdléemes oeflluge apel QEeT suaTiaL S&b HRESD.

gryenn (R) @ upleunly  sdlisemer 2 flgran  Qowerds  Hlaveudlgyeien
Ul CLr@Grmd Hindlast, alang (peoeTdsemensd GT@ITL & Sl LML,

&Gy Qar@aatiul Rster @Puipaer apan eflure allan_owug Garhblghes :

A) (A) seumy. yeormey (R) & B} (A whpibd (R) @pesor(hid seuny

C)  (A) whod (R} @Gesor®n &l D) (A) &f, gyerey {R) geuny

Consider the following statements :

Assertion (A) : The dormancy of positive photo-blastic seeds can be broken by
exposing them to red light { 660 nm ).

Reason (R) : The far red absorbing form of the phytochrome pigment is
stimulatory to seed germination.

Now select your answer according to the coding scheme given below :
A) {A} is false. bul (R} is true B}  Both (A) and (R) are false
~.&)|  Both (A) and (R) are true D) (A)is true. but (R) is false.
153. #p&meaiiL cumhdunsmamens seoue |

gnhm (A) : euenfeu_&s Bloedleeier alamgssn, owl Curasramyfur oids

B WET &S (PEDI_IGT & 266 g).
srpeob (R) : eueneu_sssdlDe fs 9 bne CahemsuliuBib.
&B Qer@asil Gerar @HRse wed sflurer ale_awg GaihbsnHés :
Al {A) seumy. syarmer (R) el B) (A) whmio (R) @uesor(in gl
C) (A wooib (R) @reao®n seun) D)  (A) efl, gyemmes (R) seumy
Consider the following statements :
Assertion (A) :  In dormant sceds, mitochondria are more active,
Reason (R} : Dormancy requires high energy.
Now sclect your answer according to the coding scheme given below :
A) (A) is false, but (R) is true
1) Both (A} and (R} are true

A
1

n2)!  Both (A) and (R) are false
D) (A) is false, but (R) is true.

Lo
ol
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154. ulguwé I ulgwé I e e aflurs’ Glurmsdle fps @l Reien @ildRssfer

g luen e sfluren aflomenws Cafey Qe

uLgwen I ulguweén IX
a)  epdds gpfleud L. e comeyi@um@men @) wrHpb
b)  adlelle 2. (PEOETHS6 &HIILITeDT
) elllrelle sybleud 3. gyn e eudliiiages
d} el Gunenaeilen 4. @peen bpeneus Bl o D,
Giufpaer
a b c d
) 3 q 2 1
I3) 3 2 4 I
C) 2 4 1 3
[3) 4 1 3 2.

Malch List I correetly with List II and selecl your answer using the codes given

below

List I List II

a)  Abscisic acid 1. Translocalion ol nutricnts

b) Ethylene 2. Germination inhibition

¢}  Gibberellic acid 3. Transcription

d) Cytokinin 4. Induce germination.
Codes :

a b C d
A3 4 2

fa
G | 2 4 ! 3
D) 4 1 3 2
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155. ulgwé I e ulgué I o _d efluran Qurmedls Epé GOV Qsien @lufseile
UL Bé sflurer allemL ewd Caiey GELs :

2)
b)
c)
d)
GBlPeer
a
Al 3
B) 4
c) 2
D) 3

uligwen I

ey BumGenmibeen
LI 85 GO0 6 1ol &5 61T
senenwmé& Gervrba 6
eS8y Gerurribasen

b c d

4 1 2

1 2 3

1 4 3

2 4 1.

ulgwes IT
1. &7o 2 Hubdl
2. @a&napiy Glummemer
Huﬁﬁgurl:@got;@l)i_'_[._ﬂ'& DI DTS 6
3. Qaryuy 2 Husd

4. yrs e DUBH.

Match List I coiteclly with List II and select your answer using the codes given

below :

a)
b}

c)

Codes :

A}
xf'j‘:.]\l'
C)
D}

bo B W

W

List I
Ribosomes
Chloroplasts
glyoxysomes
sphacrosomces

b c d
4 1 2
I 2 3
1 4 3
2 4 1

List II
1. Synthesis of starch
2. Conversion of fat into carbohydrate

3. Synthesis of fat

4. Synthesis of protein.
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156. &hsangmuepper. ag efluren Qur@mssil Hererg 2

A) ML 19, T ~= LJTEuUT e

B). gluGnells opbleuld —  @evrengd

C)  epeiille Sybleud —  apriGurer

D) ofiGear oybleun - — soaGerdlys Gauglllameamiy.

Which one of the following is correctly matched ?

fa

“A) Phytin —  Phosphorus
B} Gibberellic acid — Isozyme
C)  Oleic acid - —  Hormone
D) Amino acid — Glycosidic linkages.

157. dpéaraueteubne, erg aflursn QuTessuu_Berers

A e&8lails opfieud — HeoaGarQges

B @eedler — &0 aphd

Cl  fiGeoim pdleviusmer —  dlearewansgflar Cergenen
D) ewesy —  eouliged.

Which one of the following is correctly matched ?

A) Succinic acid —  Glycogen

B) Inulin ’ —_ Krebs cycle
\GJAI' Amino acids —  Ninhydrin test

D}  Amylase —  Phytin.

613
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. Spesrguuanpst. eg sflurel Curessiu_Geaiag 7
Al Quie bleves —  Gorden eueGasi
B)  Omeri BHleéveu —  agdlar Clammemenr
C)  &dlliges fleueul —  aprigub euevGamit
D) Soutéhen QLién bléveu —  Blur Goden.
Which of the following is correctly maiched ?
A) Pear] millet — Sorghum vulgare

\ ﬂ; I' Finger millet —  Eleusine coracana
C) Little millet — Hordeun vulgare
D)  Fox tail millet —  Zea mays.
alleng gL rerg, hdwu uryrepwsinsdle BanGeubniul L B h egl ?
A) 1976 B) 1966
C) 1956 D) 1970.
The Seeds Act was passed by the Indian Parliament in the year
A 1976 ‘8| 1966
C) 1956 D) 1970.
Qamfluremib &L e suddiev ellevg suenieu&msHlharea gL QuTpetr aliugdild
2 _elfeng) ?
A) aSlew pujenm B) ewlyop
C)  eramorGLmeuGufd D)  olgdleese,

In Coriandrium sativium, the inhibitor causing seed dormancy is present in
A) Testa : 4 Pericarp

C)  Endosperm D}  Cotyledons.
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161, ulgue Iey ugque oL sflural Qurpsss &ps @il Rerer @iliHeefles

ougueL e sflura aloLows Caieay Qawe

Ul g weo I
a) F(BMILLD Ly euey 1.
b)  y@uore yerafuflud 2.
) Gusy euminiSlest uiyeusuT @ 3.

d) oy Leumenas ugdlaeties &p 4.

UM O QLTS E.

ellpeer

A) ] 3 2 4
I3) 2 4 1 3
c) 3 2 4 l
[} 4 t 3 2.

U igwé IX
TN CLAC
QuirGesrmell Ly euew
&, dlpmoind

B HEE a1 Camaene .

Match List I correctly with List II and sclect your answer using the codes given

below :
List I .
a}  Binomial distribution
b) Inferential statistics
c) Normal probability distribution

d} Tables of areas under normal curve

Codes :
a b c d
A) 1 3 2 4
| 2 a 1 3
C} 3 2 4 1
D) 4 1 3 2

| 613 |

List II
1.  Monomeodal
2. Bernoulli distribution
3. C. Kramp

4. Test of hypothesis.
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162. apdhe eomyd sabmymener seoue gdld Glarelrs :

1. @ -cui e Gangeve ceiug 6 PEFWHHICUEDS U HINT HHW06

olevser o gyuseilss Gumgensoun@L.
[ eve-euissbh, Qeeans Hpl dlaoes Cergaam@nbe, uwesURD.
. sos-cursassdlat ALY NFleiu@eis, a@UDD UTmeoHamen HHaL
LHGBIeus TG0,
V. Qu&ss dlae aeor. sgy % g6 @bléaiu@b.
@\ submyer
A) Todno 1 eflurerenen ey [ ohnin IV seaupraiemeal
B) Sjenes S eI it areney
C) L Uwpoo T sflureneney whmpd 1V seupme g
D) ENEOTHGID & EUMIT €31 66 .
Consider the following statements :
t.  Chi-square lest is test of significance of overall deviation square.
1. Chi-square is used in testing.goodness of f{it.

ti.  Chi-square value increases with the increase in the degree of

freedom.

IV.  Degrec of [reedom is represented by % ( percentage ) square.
Of these
A) I and Il are true, but I and 1V are false
B) All are true
\«L-‘f-i I, I and Ul true, bul 1V is false

D) All are false.
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163. dpdsTamid sabmsener seusrsble erers
L. GeuTien & allesme aeallare Uflhg Qaran® samédllerb
. @eutieoL & eflevacs, 2 de GlaThsenme LT GHaLL_Tg)
Ul weunfremi v elleses, bhHmmem Gewepsopdle gry Handln eusnsur@n.
IV, saniseles gihn Gnashss sréed Qe e @doame.
SpaaciL.eupdle aflure oL amwd Caibols®
A) DIENEI GHeiln & Mwm e eney
3) ST HGID HEUMITETT N1
C) L H wppd 1 sflurerees oyammé IV seaumire g

D) leflunang, oyeonrev 11 1T whnn IV geuprereney.

Counsider the [ollowing statements :
I Quarltile devialion is easy to understand and calculate.
1. Quartile deviations arc unaffeclted by extreme items.

lI.  Quarlile deviation is another method of distance measure of
dispersion.

IV. It is notl influenced by fluctuations of sampling.
Now sclect the correct answer :
Al All arc correct
B3} All are wrong
k(,-fl;"\_ [, I and Il are correct. but IV is wrong

D)  lis correct. but Il. It and IV are wrong.
164. @eubmles ergy seunmal QU BESUILL Reierg ?

A eepudD uTeRGET = Seudiiliy LHNID F&IkEesT ~ | ol [ CeTae 6 cvome &

sgiriseilar Cgrens

B e sv@smur = - L
CUEITIWIDHD) UdGhg e

O wrpur@edie aldgn = @@Hefd Qe Gu sanhise s
GUsseT @G 8giThGeT TS0

D)  Qumses syrefl = :1 log x.

| w1 |
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Which one of the following is wrongly matched ?

A) Degree of freedom = Number of observation - 1 and the sum of squares

Sum of squares between the groups

B) Mean square = Degree of [reedom
. . Mean square between groups
¢} Variance Ratio = 0y square within groups
A 1
") Geometric mean = © log x.
- rn

165. afg)é»&ncdmumrj)gsﬁ orgy arilwumel QuTEmes L {Heieng ?

Al CUEDITWHD LITHRGeN = 11+ |
—
B) L efevssn = Y Vi OF &)
PN - o
C)  egnefdlear Filioleoy = SE,, = TN
D) eprefflen( M.S.) = - Glow plove

T Quss Sevs oo
Which one of the following is correctly matched ?
A) Degree of frecedom =n + 1

N(O-E)?

B3) Standard Devialion =

1D
f‘x_.ﬁ]lﬁ Standard crror ol mean = SE,, = G__,,
VN
Median

D) Mean square [M.S) = 5e0ce of freedom

166. &ipsemessiueubiics erg wrhmiblaers Cariur® e sy p&ae LD 2
A yerefllwey Carlur@ B)  syyrugdl Cariur(
C) mev Gam ur® D] gampellic Gamiur@.
Which of the following is referred as hypothesis of no difference ?

A) Statistical hypothesis B)  Research hypothesis

'xi?.‘jll Null hypothesis [3})  Alternate hypothesis.
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169,

170.

926

(ST HD 2 6m_u 2 enL. ey
Al X B)
Q% X100 D)
Cocelficient of variability is

s
A) X )
C) é x 100 D)

Q

x 100

> |

awx!

Q

% 100

>l

Q. >l

s dlanemes susnrULD, g LIGUSIDE 2 seyd ?

A} gyraflenw 2 ndloleige B)
C) SHpmae 2 nf Qeisd ' D)

A scattered graph helps in the study of

A) Determinalion of mean ~)
C) degree of dispersion 1)
oL@ 1 ereot Gluwi @1 Wg) WIT 7

A llmnenGaey smeu e 13)
C) a&miréu Sl aroes D)

The term “hiometry” was coined by

A

) Karl Pearson D}

A) Francis Galton

AL eNeuésh eratug
A) waerd euflevsldles aymad B)
C)  rpeEprd suflenadles eymed D)
Standard deviation is
A)  average of the first order 3)

C) average of the third order D)

613

SUHDey 2 gl Celpe
Qeley uEdl.

degree of correlation

region ol concentration.

guigul_ et

Cumenimesil. & . colllayd.

Weldon

Ronald A. Fisher.

@uesoiLrn eufleangdle symaifl

e arh euflenswles gnmead).

average of the second order

average of the fourth order.
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171. Sadfldles CarLi @em uphyser @Mss &peeon cupmie. ag sflurarg

172.

A)

B)

C)

D)

LTée HPID UTe QUTBLeeen alHudlen fpebd Sumer euBeuraw FU (D&l peot
Qe LORAL D, oyems albuge cpevbd LoD FLHlemeor

srhae Gasflégs baoews Cpemer, goau QUIGLEERHEG FLTH C&ETHSHEIU

@y emen i

Sjeur weil CeuQiphg 2 GG Podaaiad FHuGsudeemen.

Which one of the following about Toda tribes of Nilgiris is true ?

~

o |
B)
)

D)

They earn their living by selling milk and milk products
They cultivate paddy and sell it to earn money
They exchange hill honey collected by them for other products

They are not involved in any subsidiary occupation.

Spbactor HINPHT G 6T LPREGY GaTdgem GG sanismeld, ag eflureg 1

A)

B)

C)

D)

BHTL.IT &6l HTERaIL&emen Sjeunnles LW QIUTHL GEHHSHTS eUaTTLIL6em e
sref Lphgy e, Ber Siglilies rGuBeuBldeane

@periset, uniby Slgoug wbon aflapd a@HEsee Curapaubda Csiéd

Qupilmédlestpes i

S0 prussias, apedlaas sreury eblamaud QubHBImesalldamen.

Which one of the following is correct about the tribes of Tamil Nadu ?

A)

“cf |

D)

Toda tribes do not rear cattle for their products
Kani tribes do nol practise fishing
Irula tribes have skills in snake catching and venom extraction

Kattunayakas have no knowledge of herbs.
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173. weeurel Lphigytlent @Oles & paeoiL eubiyeT, g SeupTearg 7
A)  sputser feuamenyd edlayamiemeuyd euflul L et
B) srew wpnbd oifldl opdlueme seutseng Qurgleumest 2 esia) @G0
C) QeuTael srige 2 6en Gyealies eudbsmlil L UGHEL L §E0enT eul 6T
QU (B SeoerLD, 2 (Heuhisaenyd eublul L e
D)  sjeurser Gapenmelast wemen) LGHDlmha HOIPBET G0 GuCublueurtse.
Which one of the following about the Malayali tribe is not true ?
A)  They worshipped Lord Shiva and Vishnu

B) Saama and rice are their staple ioods

C) They worshipped pre-historic stone implements and images in small hut
within the forest

‘*J.ﬁ \_ They migrated to Tamil Nadu {rom the hills of Kerala.

174. &paseiorsupnien ergl efural QuIrGssiue eléemes 7

A} Guws presmflub —  Goafasameng Gt sal g ellmha
oSl

B)  GuCsreflur wevimfler — @ euTHb

C)  Csdlu spsiym —  erguiyy pley

D} Qe CGureemwey v fléeoy  —  wiibys Gy

Which one of the following is not correctly matched ?

A) Mesu nagasarium —  To drive bees [rom comb
3) Begonia Malabarica —  Rheumatism
C) Acacla Chundra — Bone fracture
4
\B) | Dendrocalamus striictus —  Snake bite.
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175. ulgwd I g utgue Mo ar eflutal CQurpsdls £pé @nudl_Gsier @RluGestls
g tiuenL e #flurer aflsoowg Garey Clews :

uligwey I uligwéo II

a  yevnguriflev LrédlGapr 1. 2 ey
by  Femev e Gur Limesi(Ré 2. e HMUD
c) @lrgev g eviilym 3. 2.enL

d)  wrellsn BSeSlGur 4. SyeusgIDN.

GliReer :

A) 4 3 2 1
B} 2 3 4 1

C) 2 1 4 3
D) 3 4 2 1.

Match List I correctly with List II and select your answer using the codes given

below :
List I List II
a)  Anltiaris toxicara 1. Food
b)  Caesalpinia banduc 2, Eye injury
c) Achyrathes aspera 3. Dress
d}  Panicumn miliave 4. Asthma.
Codes :
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176. Sp&maiL surdHlubiseanersd &Heuei

go.Dml (A) : sblprrige gadlfl weelds aurpd weewTelll LphiGy e,
QemiLrésnphdl srauysda Gaoasamer plours Crpriéese

2 Qurdledlasiment eresr 2y liey Ggflalisding.
sryemb (R) : @ssrand  yuiGeausd whod yermell  w@sseurseile  Lweb
uBeusTs SBWLLESIDS:.
&8y QarPssiul@eier @BliGasr (b '&rﬂu_térem alen_eowg CaipolsHes :
Al (A) ef), gyeme (R} seuny
B) (A seup, semé (R) &l
Cl  (A) whmd (R) @reo@uo afl. Gueyd (R) erssiugl (A) el sfluren ellenéanee
D) (A) opmid (R) @ressitun sfl, Coaud (R) sreug (A) alibe efurer aleréain.
Consider the following statements :

Assertion (A} : Reports state that Malayali tribes of the Yelagiri hills of
Tamil Nadu use the powdered leaves of ‘Touch me not’ plant for

arthritis.

Reason (R}): The plant is reportedly used in Ayurveda and Unani systems of

Medicine.
Now select your answer according to the coding scheme given below :
Al (A) is true, but (R} is false
B) (A} is false. but (R) is true
\k(:ﬂhﬁ' Both (A) and (R) are true and (R) is not the correct explanation of (A)

D) Both (A} and (R} are true, but (R} is the correct explanation of (A} .
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177. Sp&saoiL &g eené Feuedl

gam (A 2001 b @@ LH&TQFTEG HamsCsRUSlEILY., SBlPEHTL g6

Qores wHsl QeTaamwles 1% uphigiuilent o eieme.

srgems (R) : oGsgcus sragnsamer 2 LGUTHEGD upsed, uphigydienta Gu
GoDbE GHDg.

af@%p Qar@Hssuul @erer @NIDseT apeld sflures afleeowg Corhbblghss

A) - (A) &M, guemes (R) geumy

B} (A wbpd (R) GreanGo sfl, Guaud (R) eratug (A) eflbe sflurer alerseid

C) (A) womib (R) @resor@in &eumi et eney

D) (A} seum, yeoimen (R) ol

Consider the following statements :

Assertion (A) : According to 2001 Census, the total population of the tribes in

Tamil Nadu is about 1% of State’s Population.

Reason (R} :  The practice of using Medicinal plants is diminishing among the

tribes.
Now select your answer according to the coding scheme given below :
A}“I {A) is true, but (R) is false
B}  Both {(A) and (R) are true and (R} is the correct explanation of (A)
C) Both (A) and (R} are false

D) {A} is false, but (R} is true.
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178. Sé&aeiL cutdhdluhseens sHeuedl :

179.

anpm (A) 0 Qufluben Grmb srésssre. srall Geabsafla bas COgros
Plabry opuise LUeGoury ugdlemea Crreadl Guouwurs
BT GOUTI4 Wi

sirgeord (R): @uupk@sdlon srhsed @qOuuinhs yslu uGdleeia 2 aien
IDBSEEIS HTEUTRGET DS HNoeuts QuHPBEsHalaneD.

g6 Gar@eaiul Gerer @DuiRsen cpad sflurar afeoaws Carhades :

A) (A wHnd (R) @reoiin efl, Goewd (R) eresiug (A) el sflurer eflendsib

B) (A) whnib (R) @eso(Bib SeumT & em6w

Q) (A) afl, syemrer (R) Seuny

D) (A) seumy, oyaimé (R) il

Consider the following statements :

Assertion (A) : An outbreak of small-pox wiped out the Kani population and

forced them to migrate to different places.

Reason (R} : The tribes had no knowledge of the properties of the herbs in .
their new settlements.

Now select your answer according to the coding scheme given below :
A) Both (A) and (R} are true and (R} is the correct explanat_ion of (A)
B}  Both (A} and (R} are false

{A) is true, but (R) is false
D)  (A)is false, but (R) is true,

SPeeITL graussin, ag sedlfl arp Upley veseTTe LEHHSDHHTE
LTRSS B eugleveney 7

A) Gleutumevaib &g B) Gl Seordhur emiiseuit

C) L7 Geabluaridlay D) e Coflur g e,

Which one of the following is not used by the Tribes of Nilgiris for medicine ?

A) Verbascum thapsus B) Senecio bicolor

Q) Ruta chalapensis ., Plumeria alba.
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180. &paain_eubmyen erg) Hevdlifliiey eum b weveeuTd Gy e 7
A) @amLiteef B) UL 8T S el
C}  Gumnesmi_maaen D)  @mbuisen.
Which one of the following is not a tribal group of the Nilgiris ?
A) Todas B) Badagas
W )
& 181. euafl wevmLevsdledlmba Nyrao anrymss aRsssd Garsiauams’ QuUTkHSE STeur

Bondas D) Kurumbas.

eTTTT QleTTIIS 6 CPSETHTE 6LnSULERSSLILIDE 6 mest .
Speu(HD @eme‘um&,smﬁ geust Galen Glameraneyl.
L. 2 Qg o eSorGleuoTis 6l — dleiallens erecorGlemil,
Qamur e evor Glemorl,
©\8 hei &eett] 6ratorGlemoTiy
I undlweney 2 e sran@lemiigst — LmsSallans e esorQlemi
: arei &7 eoor YeoTill
fluarpd) o evor©leooil
. . 2 eumD & ctorQlasTlsen — PHlesbsLeme aanGlewml,
Len et 6f 60T olewsTi:

2,606kl eTedoT et

Guhsremld bhrsetle sflurer @eanesor g 2

A) I pHmyd 11 B) IT wbmyd 1T

C} Lo (i D} I1 bR,

There are three types of vegetable oils depending on their ability to absorb
oxygen from the atmosphere.

Consider the following matches :

L. Non drying oils — Linseed, Soybean, Safflower
{I.  Semi drying oils — Cotton seed, Sesame, Sunflower
III.  Drying oils — Groundnut, Palm, Olive

From the above select pairs which is/are correctly matched ?
Al Iand II ' B) ITandIll
C) lonly \Diﬂ'; Ii only.
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182. ulgqué I g uligue Mo e sflurel QurEmsdls &ps @il Geien @BlUu@eseater
g Lo ey sfluren afleoLawup Caiey Cais :

U igwen I uligpwe II
al  geuenn 1. creflemrev epuiCenmye
b) QaraEmem_& S 2. eflderr qpmGar
) @by 3. evesr gyl gerd
d) Oesmergn 4. GgoTETe ST

@[_757:1.}0676561? :
a b c d

A) 4 1 2 3
B) 4 3 1 2
C) 4 3 2 1

D) 4 2 3 I.

Match List I correctly with List II and select your answer using the codes given

below :
List I List II
a) Pigeon pea 1. Dolichos biflorus
b)  Chick pea 2. Vigna mungo
c) Black gram | 3 Cicer arlelinum
d) Horse gram 4, Cajanus cajan.
Codes :

B) 4 3 1 2
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183. ulgué I g ulgue Mo Ldé sflurel Qurmpsdls Sps GO Geter @BluiGsefler
2 luseL e sfurer el owg Gairey Cals :

a)
b)
c}
d)
Golpser :
a
Al 4
B) 3
C) 2
D) 1

SHET_N UTeusrold

Q\aLmiey’ eretor Glammil

uligwe I

HHYyD

& yrrilé
b c
3 2
4 1
3 1
3 4

1.

Ul igwe II
1. &erCermGuomib CabSumgm
2. &Cadlur Gleersey

3. ev ureGablum

4. gafloluyev eurgiureor.

Match List I correctly with List IY and select your answer using the codes given

below :
a)
b)

c)
d)
Codes :
a

A) 4
~B)\ 3
C) 2
D) 1

List I

Canada balsam

Cedarwood oil

Camphor

Gum arabic

Ll

List II

1. Cinnamomum camphora
2.  Acacia senegal
3. Abies balsamea

4. Juniperus virginiana
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184.

185.

186.

aiwr erpsrald 2 sier @bs ped CaTlur®. ydsblur eraruu@id apenet Lr iy
Crhml eumb euUTLLOLS GODSHSHEH Falqlis,
A} Seflures B)  umiefluré
C) DGt D) srgbde.
The principle present in Curcuma longa that lessen the chances of appearence of
Alzheimer’s disease — a degenerative brain disorder is |
A) Cineol B) Borneol
C)  Zingiberene ‘kE;]ﬁII Curcumin.
&Crreau &mmeﬂe—b‘ QUTmeTTSHTT gl idy Blaeybd wdliy sumihg LT&HD 66 s
S(HSLUfeug @5
A) weufledt yévellsar B) weflét @mosme
C) @eoupules Heulures 2 6l ugd) D) wella werhssameisel.
Economically, the most highly valued part of Crocus sativus is |
A} the petals of flowers B)  the style of flowers
\.(f.)qll'a the red tips of stigmas D)  the anthers of the flowers.
‘SLLTE Flebt (paeTenowret 2 LGUTSD Gg.

A) e gurfloy

B)  seoy ey

C)  erd@l eou surhiy

D)  suuellé LwauRssiiu@n 2 it urgeriy eieolle e sel HwuThliy.
Kapok is mainly used for

A)  making textiles

B) floor coverings

C)  making gunny bags

.) making naval life saving appliances.

[613 |
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187. ‘gpullsressie gif 2 houndan Qurmams, @bs ble (P& erars Qe 2_sfTeng).

188.

A) S QyrGlerevenr or o OlesoTiiy B) GQuirsa@wl seorblemis

C)  eagubidensliyen oretorGlam i D)  oyyehé y sreimlemd.

The essential oil is an ingrediant of ‘eau de colagne’ is

A) Citronella oil B) Bergamot oil

C) Lemon grass oil ‘-\‘Dj. | Orange blossom oil.

Fpbaeior eurddliuhiseanend Gevel) :

gathm (A)

sryeoed (R)

guurallGar oD Geangar GEa umssaT @SS
solllahgamer o meurddludles, 16 2 wi aflavendsdr HGD GmHev
ueeasr 2 Geumlleal. Syoeausre @hdHu usawpl Il dlee
2 SHSEND @)L eor.

IR 8. IR 20, udsgy Guretny sallammsst, 8-10 Learaal/askhée
lenerd oy shEleimen. YT 2 6TEhT uenssHer, 4-5 Lergen/

aH(h&EGs allamendedy g(maisiper .

&8 Qar@slul Gerer GNUIRSeT apeb sflure alaLawus CaihlsHés :

A) (A) whod (R) @reso@n &fl, Cueuid (R) erebiug (A) ellbe sfiure allendben

B) (A vonb (R) @uessrGo afl, Cuaud (R) erstiugy (A) elh@ sfluner allenéanduen

C) (A} seum, e (R) &l

D) A wbmbd (R) GreanGid seupmestamel.

Consider the [ollowing statements :

Assertion (A) :

R_eason (R) :

Japonica and India rice varieties were hybridized and resulted in
16 high yielding hybrids which was the base for Indian Green
Revolution.

Hybrids such as IR 8, IR 20, Pankaj were yielding around

8-10 tons/hectare while the native varieties yielded only
4-5 tons/hectare.

Now select your answer according to the coding scheme given below :

A) /" | Both (A) and (R} are true and (R} is the correct explanation of (A}

B}  Both (A) and (R} are frue. but (R} is not the correct explanation of (A)
C) (A) is false, but (R} is true
D) Both (A} and (R) are false.

{_61:3] [ Turn over
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189. &pHera@mid sadnidenet seuaidole Gliemeis :
I. @peveilesdt mrHmt UWIT GleuaT eveeg 2. @HhE .
1. grhpse, Qpamen ugflLbighg Jfsss asureriu@d o GuTgl
LID&SLOMGLD . |
1. Gpade wEsrea catalliug @bduralise sremiu@bd Glurgl
UPSHSHITGLD.
Cuharenb shriseilcs 2 eoambuhHene sTeney 7
A) [ phHmyn 11 B) I whoud 111
C) IT (b D) Hlwl@Gb.
Consider the following statements :

L. The rotation crop of paddy is Cajanus cajan or Vigna mungo.

II. Winnowing is a common practice of separating paddy grains and -

Chaff.
I[II.  Raising a ratoon crops of paddy is a common practice in India.
Which of the above statement(s) is / are not true ?
A) I and II B) Il and III
C) 1l only *&DJ] 111 only.
190. €p&aramid gpnsamen seuaiddlée Qareis

L Guélé 6T gD @\t dlwenwwrr &1 &1 ) 6ooT il & ap U] v & eu

spOlusurevseiiallbhgl GuUDlUGSDE.
- gbuQyl dlgan Cudleiian Qequllelmhea QUDULGHDS.

L. ebusrm a@ib wedlu aoCeanl. ewsdallur sbusraldmhbs
QupULGEDE.

GupaETand smbryseile 2 ewmabUbDemey enen 7
A lwodmod I B) Il wpmd I

C)  uwl@b D) Il ul @b.

[613 ]



191.

192.

109 PGBO
Consider the following statements :
I ‘Basil' an essential oil obtained from Hibiscus abelmoschus.
II. ‘Ambretle is obtained from fruil rinds of citrus basilicum.
[II. 'Champaca’ essential oil is produced by Michelia Champaca.

Which of the above statement(s) is / are not true ?

A

“af | 1andu B) IlandIl
C) il only D) 111 only.
o fifle LdeumamIng: Geramheien La anTlevurldusel GEHsGDL BrHsehsE
6T 6557 6551 Quu_Jr'r ? -
Al 2 a8 aprlsvurd el B) dlatufly udsumaenn BTHes
C) bOles didlu ueveuemsaw HTHEET D)  uwe emmevuml BrHSe.

What is the name given to the countries having a number of biodiversity

hotspots ?
A)  Global hotspots “B) | Mega diversity nations
C) Micro diversity nations D)  Poly hotspot nations.

‘GrRdlyev Ua' - @& Sbluassra ue SihPlamser Jemasar sustmOIL &Hemha:

SUUDLLRHsLILLE SPbsCurdldrper. b wells o Crrédlusdlbeb Fhe
allmenallsdlaipen. smudsliyay Yo aoss Ghlsdlne 2

A upsdlé Gy B)  urrgdeiiub
C) uéeal deflwr | D) esQermirme.

Introduction of ‘Congress grass' has led to the extinction of many local species

and affect human health. What is Congress grass ?
A) Cotton plant 3)  Parthenium
C)  Pallavicinia D) Cynodon.

ﬁf | [ Turn over
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193.

194.

195.

2 ifludy SyliuesL. QaremiL 2 husdybd wHmd wells meen a1ihs 2. eaaTalw
rmisdl HLb. G\g ereest Sl 7

A ofle 2 es 2 Husd b Bl gdfle 2_es gypmiddl glLb

Cl odfle 2 e o Oiflue b D)  fle 2 ove 2 0 g pmisd) .

This programme is a world-wide plan of research concerned with the biological

basis of productivity and human welfare. What is it ?
A) International Productivity Programme
B) International Research Programme
) International Biological programme
D) .International bio-research programme.
9y dusoLim, SLLm whmid smer, udguilflar brpur@sst - @ aagsd GObHaner 2
A vaglfler Geumumliget (penms el
B) usgulifler Geumuml g et Syenéb@n (pennaer
C)  udegyilfl Geumumge wrdlflaat
D) ueedifer Geumumges 2 U Slfleysefr.
What do alpha, beta and gamma biodiversities indicate ?
Al | Methods of biodiversities | Measures of Biodiversities
C) Types of biodiversities D) Subdivision of biodiversities.
@ihdurales errure 1972 - Gid ‘wals HHRIEGR’ b smailie oL Gubp
0BT . WIHTLIGHE. v T&EGanTd (duall ar) Clearin sehs Cameant wri
A)  Qeueflympey sievn yeowéeT B]  Jysw whdif
C)  mdl gevwoéar D} ahnéGpe Semwéar.

Who participated in UN conlerence on Hurnan Environment at Stockholm

{ Sweden ) in 1972 on behall of India ?
A) External Affairs Minister H) Prime Minister
C) Finance Minister 19} Environment Minister.
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llig et erglellmhg SflssRssILESng 2
A} elQamlgm 3y ety Al ger B)  auGlam gm Heflar
C)  auQeami gm Cenguisimr D) el Qaplyr CurellGu .
Which one of the following is used to extract Ephidine ?
A} Ephedra antisyphilicta ‘uB:.]ﬂl': Ephedra sinica
C) Ephedra trifurca D)  Ephedra Joliata.

Epeumd udveylifler Ceugur@ ubd) abs eabp sflurerg 2

A o6 wehsTEp e Lagwifler Capur® ue oflu wEHE CUTESTSEDHE
apeots QuUITBeTaeT feo_LSHE LLGTLREIDE.

B oo auenlee udvsdife Camur® e aussd sreurhseieshs udlu Spbe
rel LT ser allameralldasl LWSTURSIDS!.

C) 56 Cerfadlupse udgulfler Capur® ydlu 2 pusdll QurEesmeng
sHelse gm dobs Gallly Hlimsrs LusTURSIDS.

D) @eosn yoaibab eflurarane.
Which of the following statements is true ?

A) To a pharmacist, biological diversity is the raw material from which new

drugs can be identified.

B}  To an agriculturist, biodiversity is the wild relative of crop plants and is the

basis for developing better crops.

C) For an industrialist, it is a rich store house from which new products are

developed.

B) Al the true.
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198. ulguwe I uligwe M2 | & sflurst QuTmHsHs &ps @DUlL [Derer Gnlul@eefler

g ua e sflure elsoowg Caieay Clels :

ulguse I UL g wes II
(wempulletr Syemey) (@)
a) 600 bl .. 1. shaos ¢nbeuefl
b) 800 8.8 Gepeurs 2. =8Th
c) 900 84S 3. QL éere Lgdlaeen
d 1000 HSéen Coa 4. Hpg s0Qeusf.
Goldpest :

A)

C)

a
3

B) 3 1 4
3 2 1 4
3

D) 1 2 4,

Match List I correctly with List II and select your answer using the codes given

below :
List I List II
( Amount of rainfall) ( Places )
a) 600 mm 1. Gangetic plain
b)  Less than 600 mm 2. Assam
c) 900 mm 3.  Deccan Coromandel
d}  More than 1000 mm 4. Indus Valley.
Codes :
., a b c d
-y 3 4 1 2
B) 3 1 4 2
C) 3 2 1 4
D)y 3 1 2 4
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199. &Spésen cuT & Ukisemnearsd: &euedil

gahmy (A) : am el L aletosCur owes srarsomsbur, LTEGTHEGD
QUTHBLE 2 mHarseaubs aaalah@E FraomeaubsEhd DHIHD

Cadlu YhaTéHHEhD.

gryaod (R) © ohs @O L eleukiems vas ararseas Godlu alewkg Syaag
sreugn ereiny Vs sriu@dgais wHoInmmH UTHSTUY ey &Hams
G0

FCp QarHesiu Heren GHUIGH6T pelb sflurea alsoL g GsiHoleH&s

A)  (A) vppd (R) @ren@o &, Cueaud (R) ersiug) (A) ellibg sflurer allenésndes

B)  (A) whmbd (R) @esoriv afl, Gueyd (R) aredtugy (A) el eflure allerédain

C) (A) afl, gerrey (R) seumy

D} (A) seum, yerey (R) el

Consider the following statements :

Assertion (A) : Sanctuaries and National Parks are developed for preservation of

particular animals or plant species.

Reason (R} : Another way to conserve such species is to declare them as

National or Stale animal or plant.
Now select your answer according to the coding scheme given below :
A) Both (A) and (R) are true and (R} is not the correct explanation of (A)
B} Both (A} and (R) are true. but (R} i{s the correct explanation of (A)
C) {A) is true, but (R) is false

D) (A} is false, but (R} is true.
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200. Epssaor surbduhsaens seuel :

ga(imy (A) o eua e diflar eumflliisel oyflhg Gurge. Quburepn il 2 eyew
er@ael, rriugs Hlekssl LODID Lap UTEDEE G HHEWIL Sl
oL Quudina.

sryewid (R): euer 2 lfler eurfl dset oplba Cursase wvssaCETome

Qe LI &TTeusIoEey.
G Qar{ésuu Gerer @dhuifest aped sflurer allen_ews @&,ﬁg@g@m ;
A)  (A) seaum, e (R) &, B) (A wHmon (R) Gyesr@n eifl
C) (A wpobd (R) Gres(ic seumn D) (A efl, syemén (R) seumy.
Consider the following statements :

Assertion (A): Extinction of wild habitats will occur mostly in tropical forests,

wetlands and coral reefs.
Reason (R} : Extinction of wild habitats is not related to population explosion.
Now select your answer according Lo the coding schemé given below :
A) (A} is false, but (R} is true
B) Both {A) and (R) are true
C) Both (A) and (R) are false

A
D)\ (A} s true. bul (R} is [alse.
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